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BCO E2A

B.Com. DEGREE EXAMINATION

NOVEMBER 2010
Fifth Semester

Commerce

Elective—AUDITING

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks

Part - A

Answer all the quections

1. Define - Auditing.

S6efl56mE - BE0HHEMWILL. 61>,

2. What is Par‘rcrship firm?

FOLLITEUOTSGL . 6T60TIDITED 6T60T60T?

3. What is Audit Programme?

Senflsena BaLD&S e16dTDMeD 6163160 ?

(10)(2:20)



. What is meant by Internal Check?

DiHEFETMUIEY ETEITDITED 6T6ITET?

. What is meant by Routine Checking?

GULD&SLDITEDT CHFTSHEMETTSH6T 6T6TTMITED 6TEITE?

. What is voucher?

OLBMIEELB eT6dTDTed 6T6dT6n: 2

. What is Audit Repart?

S6eflE6m8 AH5ens CISTMITED 616360 ?

. What isvaluation of Assets?

61EN5G5H5H6meT LDPLILNBSH6D 6TEITMITED 6T60T60T?
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9. What are types of liabilities of an Auditors?

Sewflsemawiflest UMMILILSerflel cuens:s6T Wimeneu?

10. What is meant by Criminal Liability?

SDDefluied OUMMILILISEIT 6T63TMIMEd 6T63T60T?

Part- B (5 x5=25)

Answer all the (ucstions

11 a. Explain the various types of Audit.

6fl LeLBauM) EUDEHHEDAT 6%6urfl.

(Or)

b. Give tie advantages of Auditing.

S0 sHSUINEIT [HETTEMLDGENEIT FaM)I.
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12 a. Explain the essentials of a Good Audit Programme.

RH [H6V6D Gewflsema Ba&ESAuNetT Sibamisene efeurfl.

(Or)

b. What are the contents of Audit Working papers?

SufleEeme aemIassmersefled amemuu@L eflupmhiser

wimemed?

13 a. Explain the importance.of voucher.

OBSMIFELIQEN (LPHBUHFiUS5nS eflensEs.

(Or)

b. Descritie the advantages of Vouching.

greunmuejuilelr pettembgenear efleurfl.
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14 a. Explain the classification of Assets.

e\EnsgIserlet euensgHensT ~ efleurl.

(Or)

b. How will an auditor vouch the Cash transactions?

BB SHEVNSHENSITETIT EMIMSHS HLEUIQE 60 BHET60 SpFHTIEFS 6mL

ETENEUMN)| S6M0flEH6ma C\FUIEUMT?

15 a. Give short notes on Liatility to third party.

CLPEITDTEUS] [HLITSHETH G S 6u0ilsems wnariledr QLImmILIL|&6iT

ubH @® Hm S CUenTs.

(Or)
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b. Distinguish between Civil and Criminal Liabilities

of an auditor.

M sewlsenswmerfiesr 2 fenwulwed QOUMTMILILESGSLD,

SDmeiluied OUTMILILIGGSLD 2_6Termr CaumILITBSEmaT 61(LD&IS.

Part - C 3 x 10 =30)

Answer any three questions

16. Explain the qualities of an Audaivar.

SevflsemawimenlesT LissorLgelt w15 effeurfl.

17. Describe the advantages and disadvantages of an Audit

Programme.

Seuflsems [BaHPE AU HESTEMLDES6IT LDHMILD GEMOLTBS6IT LIH
efleurfl.

18. Explain the Auditor’s duties in vouching.

gneiiomieilev sevflgenswineTile sLenbaEemar - 6feT&HEs.
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19.

20.

Explain the object of verification of assets.

e\EsgIHsemens FlUMTUILGEST ChnassmigeT Lbhm efleurl.

Examine the liabilities of negligence und<r the law of
agency.
WPEHEOID FLLSHEN SLDHEUTTS GEDDOUTEL. STDIBLD OWIMMILIL] -

efeurfl.

skkok
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AF-2088 BCO/BCC/BCS-111

B.Com/B.Com. (CA)/B.Com. (CS) DEGREE
EXAMINATION, NOVEMBER 2010

First Semester
Commerce
Part I—euenflas &4 5w &6T

(CBCS—2008 onwards®

Time : 3 Hours Nlaximum ; 75 Marks

UGS - o (10 x 2 = 20)

M5 G Nevnss e S0 elenL H(hHs.

1. euenflasaigsd eresimmes cevtest ?

2. &(HSIHEOT 6165:,:0Meu 6T6BTEHT ?

3.  eMemburiiuig 6T6SIHT6V 6T6vTERT ?

4, OLEMEUTLIM|&SHEMT—EUEDTUIM).



5. a&nmnil&Eens—eNenssid &(hHe.

6. Hlmiwe CFweor stesTLIMT WTT ?

7. mESMg 6155Hm6rT euensLLHSSLILIHID 7

8. M&ms—eleNssD G(hHs.

9. e&len&sb HHS ¢ FleEsL L 6.

10. s&eued QFTLIL TemLg wng ?
UGS - 3 (5 x5 =25)

Im WSG| eNlernssEhHs @ edlenLweflss.
11.(3y) ~auenfllassysrisefler suamasenet euflensliL(HiSgs.

(Zyevevg))
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(=)

12. (a1

(=)

13.(31)

auenllassigsrasafiler CluTg <enwleuliLn

Meufl&sa].
&wny 3 Lrgwrs, wrurrs sLener & @mLLNE

Ces55Ts BUT QMHaTSHSE, sLmal Eadlrowrs

oI55 Cauemiy S1q.51D RESTN) 6T(LPS. S

(yevevg))

Couemev Gouetnriq eMemTemiliLI SlqFHID R6TTENMD
2 05 o2mflGeolii Qumidl eumb seflwny
Cuuur fAnezing Seliue|b.

Nenremans sussSler Crrossmsener

Qaetsuns eleuflésab.

(Zyevevg))
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(&) SuululL  srsfled  eTenTanllsamas

GODEnel UM slgsb epeod g flelssaw.

14.(9) ewrury &pomilsensullenn BHesToR DS E6m 6T
Meufl&a.

(Zyevevg))

(&) eumdlLevseflen. alenssenet dnmis.

15.(o1) Hmuws sar o unh An@olly auenrs.

(Zyevevg))
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TLOMGITMBIGEIT 6T60TMTEV 6TEUTENT 7 B{68)6U 6TIRIBIGUILD
b D

alemnsLUOSSUUMIWL ?

Les - 8 (32410 = 30)

aCaemIb apestm) 6Nl s EmsE) ellenL_We s 5ea .

16. euenfllas s1q4EmIS6T 61(LPSHILIOIT Sl &LES1 DS LD(LP 6T ST 60

Q& e CeuesoT(Heuest wmemeu ?

17.  euridl Gev euemrliLpilss Vgnenasenw SHGILITLYS 2_6merm
em. 1,00,000 ullepis; ¢F: 2,00,000 stevst 2 w5l eupmis,

UEISl&@ HgHD TS

18. Y&y &gz ML Jsemer Fflssiqw NUTSng

Q5 flel B 8195 SHEN6T 61(LPSIS.
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19.

20.

1S (B usdrsdHen glivenuler sLes Cal (B

elewsTemTLiLID eevtenm STUT_ (D BmieuensneE &iqsn

61(LDSI5.

SiNGenasaflen alenssenens dnmis.

KK ———
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AF-2089 BCO/BCC/BCS/211

B.Com/B.Com. (CA)/B.Com (CS) DEGREE
EXAMINATION, NOVEMBER 2010

Second Semester
Commerce
Part I— 90160608 (PEOMHSHA:

(CBCS—2008 onwards®

Time : 3 Hours Nlaximum ; 75 Marks

UG - (10 x 2 = 20)

WIS G| NS EF oA 66wl H(Hs.

1. upeIeITEE6V 6TESIMTEL FicTooT ?

2. (PSS Qllgel FH61 5V 6168TMITEV 6T6T6uT ?

3. GamliLsaniso HeTenLOS6T Wrene ?

4.  uewtleueny LIL SSl6tT HETEHLOS6T Wimeneu ?

5. meiesr 9eIaIeVSID 6TEITMTEV 6T6dTEN ?



6. aaflesflullen WWaHwsgH ST auemTs.

7. 2 6TaUHLD SLIT6V 6T6ITMT6D 6T6TT6TT 2

8. Ieuevas Quindlrrisst unp) ey ooy wing ?

9. euemyum : HNSGDSBH6.

10. ibletTevT(EHEFEL 6TEUMITEV 6T6TICT ?

Lie,5l - g (5bx5=25)

Smensg| o '6vl 55 EHSHE elenLweflss.

11.(8)) YewpsslinsseSen Coemeusst wneneu ?

(Zyevevg))

()  SiNsemssaflen auensser eflefl.
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12. (1) mevev Camildl B wenmulles Sertemnge wireneu ?

(Zyvevg))

(@) BeTesT JNIUSSEET SEBTENOF 6T, WTene ?

13.(3)) uenfleow eteflemwvwns C=iiw Geuesoriquwr Lig

Blemevsst wmemeu ?

({6>508))

(&) emwwresadlen SeHS6T Wrene ?

14.(9) C=rulpsed emimeid auemnsliLBSSLLBL ?

(Zyevevg))
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(&) sLlLsmdl upm Ani@Hluy auers.

15.(9) eaCosab usgH OCurg auemfla QarHasenen
T(DGIS.

(Zyevevg))

(&) euenflaelwedles (W&dHusHguGmS 6T1(HEIS.

ugd - 8 (3x10=30)

aCaemib apesm ellen s Ens @ el weflssea]b.

16. eauevaSS)at =TSHTT6T blg6lq s ener el flés.

17. sifldesemw sthimend swnfliusy ?

18. &L srrdlullen auemasst oML CHT&SmIS6T Wrene ?
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19.

20.

R IAVunsSSHenr GCoalemeenil eTeleumn &6wTsHs M

ClFwieugy ?

peferr gauenGdHler semfleflufiesr 2 LG iiwmigener

Meuflss.

skkok
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AF-2239 BCO1C1

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
First Semester

Commerce

ADVANCED ACCOUNTANCY—!

(CBCS—2008 onwards)

Time : 3 Hours Meaximum : 75 Marks

Section A (10 x 2 =20)

Answer all questions.

1. Differentiate Journal with Ledg>=r.

&PILCULewLujw, GG _emLuwjb Caumu®O Sgis.

2. What are the accoun' ing concepts ?

6wt @)L Ldlonluied O&TeTensa6T wneneu ?

3.  Whataz suspense account ? When is it opened ?

S|SB HEWTSHF) 668DV 6163168 ? G 6TLIGILIM(LPS)

Qar_mslu@h ?



Why Bank Reconciliation Statement is prepared ?
andle sevsmas Fflessl_(HID ULliqwed 66T SWTFEHs

Geuemst(hid ?

What is the necessity for providing depreciation 7

Cawirestid G (Peugnaren jeudwibd eiemer ?

What is meant by balancing of an aceount ?

CuGrLigev QLY 6T(QSToo-STEILIG WG ?

What do you mean by suuscription received in advance ?

(et FnligCui QuipLILIL L FhHGT 6TesTLG WG] ?

Show hew life membership fees appears in final accounts.

Spujen 2 miSlesy sL_Lewd et @miSls sesadlen

sleuaumm) sr_L_Luw ?
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10.

11.

What is Average Clause ?

grnEf F758)| 616016V 6TevTovT ?

How would you ascertain loss of stock in the ¢vent of fire

accured ?

Sullenrred FOUL L. &7&@ QpLienii sTeueunm & e6surs
SHeumis ?
Section B (5x5=25)
Answer all'‘cuestions.
(a) What are the objectives 0f Accounting ?

Bew1s &L LS w6 ChIssmise wneneu ?
(Or)
(b) Fromwe following balances of accounts, prepare a Trial

Falance :

Capital account Rs. 40,000 ; Buildings account
Rs. 6,000 ; Bank account Rs. 4,000 ; Interest paid account

Rs. 350 ; B/R account Rs. 8,000 ; Debtors account
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12.

(a)

Rs. 30,000 ; B/P account Rs. 15,000; Furniture account
Rs. 65,000 ; Discount received Rs. 1,200 ; Discount allowed
Rs.2,100 ; Machineries Rs. 8,000 ; Creditors account
Rs. 7,850.

Yemeu@pd SHewrs@ P mLLsemens Giansr(h 6
Gmuy el ULl igwed swy Glguwe.

(WPS60 &/ (& em. 40,000 ; &L 1gL%/\G emh. 6,000 ; eumid
&/@ em. 4.000 ; eul_lg QleSSwg &/@ em. 350 ;
au/z. wIHNFF O &/@ . 8000 ; sLesreflser
s/@ ep. 30,000 blg/2 LIHNFF_BO &/
eh. 15,000 ; gjemmiwicflgen &/ & em. 65,000 ; SemmEmnLlg.
QuDOD &/@ ™. 1,200 ; senEpHLly eupmSu &/ @&
¢h. 2,100w Dupdlrssned &/@ ep. 8,000 ;

sLerihCHIT &/ & em. 7,850.

Expicin the various methods of rectification of errors.

Yeww Slmsssdle0 LvGaumi (pevmaensT elleufl.

(Or)
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(b)  Fromthe following particulars prepare a Bank Reconciliation

statement ason31.3. 10 :

@)

(ii)

(iif)

()

V)

(Vi)

Overdraft balance as per pass book Rs. 8,000.

Cheques issued but not encashed Rs. 3,162

Cheques deposited into bank but yetcollected Rs.1,800

The debit of Rs. 950 in pass.beol.for interested is not

entered in cash book.

Rs.1,750 paid into ban./'by a customer directly is not

entered in the cash beox.

Dividend colleciad by the bank Rs. 500.

Wetreu(md. HHeuevsemen Glaresw(h 31.03.2010-&asmewt

aumdls Linsd efles_GIb Ul iquied swny OlFuis.

@)

(ii)

wid psGolne Ly Gudamriupm

. 8,000

aupriSlu s1Carenevsst LiewTd GlUmLILIL_65l60en60

¢th. 3,100,
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13.

(a)

(iif)

()

V)

(Vi)

aumdluler CesdHwu srGerencvasst @ esan b

6U@6euNsNg g em. 1,800.

aumd BaGeoliqe0 el igssTer upniL usley
h. 950 Qeremid Crr&Es o 6L Ig60

udlwiLi_eNlevemev.

aumgSenawneny meurmed Grriquing eumdls
sewisdler OFSHILIL L & (5. 1,750 Qetiend

Qrr&s erligeo LFlwiiLiL a2 emev.

BQeomu 6 & Dgnens 6 161 & w1 m6v

aUGedl&sLLLL gy, 500.

Compare straight iinv method of depreciation with diminishing

balance metheA of depreciation.

CrrCam=p wewn Cauibreisens Gamphg ol&e

B @i Cauwiwner WepCwr(® Ui s.

(Or)
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(b)

On 1% April 2008 Sudha and Company purchased a
machinery for Rs. 64,000 to install the machinery expenses
incurred Rs. 28,000. Depreciate machinery 10% p.a under
straight line method. On 30th June 2010 the worn out
machinery was sold for Rs. 52,000. The booxs are closed

on 31st December every year.

Prepare Journal entries. Also shov/ vfachinery account,

Depreciation account for three years

&&n 6wt Ga, em, 64,000 wdlliysmer QuinSrsens
gugedo 1 2008, jeom eummdlwg. s
Bniejeugmanst Cicevayser ¢p. 28,000 gy 6w
Csmmib 10 % efgb CrraGar(® (weomuleo
GawibmeripeslulLg. ggees 30, 2010 gjemmy)
Qupdlre uwetpnit Curergred em. 52,000-&
pauulLg. sewsCab s oy e bhCsmmin

seEour 31, oemy (Pigssl Glumidlenert.

SMUCUI_ (B udeyser smHs. Coebw Pundrs

seTSmS WD CHULTNTS STHMSW|WD CLP6sTH)

AT (DS EHSSHS S([HS-
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14.

(a) Distinguish between a Income and Expenditure
account and a Profit and Loss account.
au@mwres GFevey sewaSn@Gon, Qeoru BLL
Sew1&HS D& 2_6Tem CeumiLmHI&eT wne el ?

(Or)

(b)  From the following find how muci:is ¢9 be shown in Income
and Expenditure account for the year ending 31.12.2009 for
subscription.

Subscription received during thevear as per Rs.

receipts and payments ac:ou it 28,680

Subscription outstanding.ori 1.1.2009 2,400
Subscription outstari'ing on 31.12.2009 3,000
Subscriptior ie«=ived in advance on 1.1.2009 1,800
Subscripiicn received in advance on 31.12.2009 1,080

8 AF-2239




SpsaserL lurmsefled(Brs 31.12.2009-60
(PlgEUEML_L|LD Y 650Tlq DSBTES auheumil OlFevelleus

sewisdlev Fham Clgnens steuailgd s L.

CQUMIFE ClE)SaIFe0 HevoTaHS 6vT Lilg. erp.

ghgn CluHmenLo 28,680
01.01.2009-6v eurr Geuewdriqui &ham 2,400
31.12.2009-6v 6urr Geuewsriqwi &ham 3,000
01.01.2009-6v (6t Fa L lg Lt QUpLiLie_ L FhST 1,800

31.12.2009-6v (6wt Fnl_iqll GiripLiLi(Remer &hgn 1,080

15. (a) Afireoccurred o, 11.2009 in the shop of Raja From the

following, caiculate the Claim amount :

Rs.
Stosk'un 1.1.2009 8,500
turchases up to the date of fire 85,000
Sales upto the date of fire 1,00,000

9 AF-2239




Rs.

Wages upto the date of fire 8,500
Stock salvaged 2,000
GP. ratio Rs.25% en sales

@rrynr etemueuflest sem 3.11.2009 ey

Sullnssgl. Spsarand [ eAursdlelGHal

Canmflenw Cgrensenw &nesTs.

o1
01.01.2009-e6v &188|(i51 4] 8,500
L9958 aueny N&EisT(PGHe0 85,000
S1919.58 eumn ellHLenewt 1,00,000
Sullig & elem Fnedl 8,500
UG LSS LLL_L 78S 2,000

GIwisg @eoru el elpLenesuied 25 %.

(Or)
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(b)

How the actual claim is computed under Loss of
stock policy ?

#15@ Quuy umelfuler Sp Carmilen eTliLig
CluMI6UG) ETITLIENG 6T(LPSIS.

Section C (& x10=30)

Answer any three questions.

16. Pass Journal entries for the following transactions :

@)

(i1)

(iii)

(iv)

v)

(vi)

(vii)

Capital introduced Rs.5,00,009.
Deposited in bank Rs.3,20;000

Purchase of fixed assets for the value of

Rs. 1,25,000 by zieque.
Cash withdravrn from bank Rs. 75,000.

Purchaseda-goods from Mr. X for Rs. 50,000 paid

by cheque.
Casli sales Rs. 1,75,000.

Goods withdrawn by the proprietor worth
Rs.10,000.
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(viii) Paid rent Rs.3,000
(ix) Issued cheque to Babu for Rs.2,000
(x) Received interest Rs.8,500

16. Spsservi BLalqsHmsSEHSsTe GHDILCUL DU Lfleysst

&(HS.
1)  Siflwsuu@ssliul L (pHed ¢hH.-5H,00,000
(i) eumdule QeasHwus em:3,00,000.

(iii) em. 1,25,000-&&mewr il FTemen Glarhsg Hemeos

Qlens g eummilwig).
(iv)  eumdlule®hH m(hiss Crmésb em. 75,000.

v)  X-llLBmis g78@&0lsnen(pged Clawigg em. 50,000
anGgmeov peold ClFe)sHuig.

(vi) Qrrse elpuene en. 1,75,000

(vil) .. >_flewwwemy em. 10,000 wdlliLsmen &rsemns 61(DSH5I5

O\&mevoTL_IT].

(viil))  eun_ens Glee)sHwg em. 3,000.
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(ix) umyeys@ snGaremev ClarBSSa. on. 2,000.

(x)  euLllq QuDHME em. 8,500.

17. Write down the rectifying Journal entries for the

following errors and show the Suspense 2ecount.

@)

(i1)

(iii)

(iv)

V)

(vi)

The sales returns book has been under cast by

Rs.500.

Goods worth Rs.1,500:s01d to Bharath has been

credited to his accemt.

Purchase of fernitures Rs.5,000 has been

entered in the purchases account.

Cash Rs.2,500 received from Sekar has been

posted+o his account as Rs. 5,200.

A.bill received from X for Rs.4,000 has been

vosted to Bills Payable Account.

Received Rs.3,000 as advanced for sale, from a
customer has not yet been recorded in the

account books.
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Wemreupd sewtadlwiey NlenwaeEns@ SHmssL Ldeyssn

61(pS) DS F|5 SHevTHens S (Ds.

@)

(i1)

(iii)

(iv)

V)

(vi)

lpuenens SlmLuu g@ eH. 500 Gewmeuns

FaL_L_LILL_(h\6meng).

LIS nE o F7s@ eh. 1,500 L1017 Hev1adle0

QITe| MUSSLILIL L g|.

Sempuwenilger eurmidlwg) eh - 5,000 G&meTpgeo

&/ &-60 DM ClFLWLiL L D6Terg).

Ceafl0mBE QunHD Srmésb eh. 2,500 ep. 5,200

6T6UT D EUTH] HETTHEN60 6T(LPSLILIL LG

X-@L 10@he Cupm em. 4,000 wrpmiE FLO,
Q&/e. wrpm FO& sewadle udlwl

L (e snig.

ean aungdensw el (HHg eNnLeness @, (pevt
wewtons Glummg em. 3,000 sewisE, e(Hserfleo

udlwiiLi_elevemev.
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18. Vijay and Company purchase a grinding machine on 1%t January
2006 for Rs.9,250 and immediately spent Rs.750 on its erection.
On 1%t July 2007, it purchased another machine for Rs.2500 and
on 1%t July 2008. It sold off the first machine purchased in 2006 for
Rs. 7,000 and on the same date it purchased anguser machine
Rs.6,250, on 15t July 2009, the second machir.e purchased for
Rs.2,500 was also sold off for Rs.500. Depreciation was provided
on the machinery on written down value bazis‘at 10% p.a. Give the
Machinery account for four years, ceintiiencing from January 1,

2006. Calculations are to be made v the nearest rupee.

gzt et Hwoluefl @remeu QunSHrbd 6ot 6w 6wt
smenaufl 2006-60 (. -9,250-6@ eunidl em. 750
Bmiejeugnans, 2. smqwns gevelll_Lg. 2007 2iemev
1-60 @g Coe)in 6o QuinSrSens eh-2,500 & eunmgluig
wOHMID 2008 wiemed 1-60 (P60 eummEw PQuihSHrsens
eh. 7,000 5 efllmasLiul L g). 56z Cadlulev em. 6,2505 @,
Cueiopm Quidlrsems aummdlug. ofened 1 2009-60
@rewiLnteugns eh. 2,500-@Geurmdlw O umnulemes
eh. 500-&@ lpmgl. Csiwnerwreng @Gennhg e

Uy wempullev gy evrrigmn@ 10 % BesliulLg).
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Qundlrs sonsdlenesr ereufl 1 2006-e0
Qar_s8555eBHE HrenE eTHOSHE SWT) GlFls.
eSS (h ClFTenswneng) oh. 1 3| marenuiey wrHmLiLL

Geustor(HILD.

19. From the following receipts and payments accoun e£the City Club,
Chennai for the year ended 31.3. 2009, nrepare Income and

Expenditure account.

Receipts and Payments for the year ¢naed 31.3.2009

Receipts Rs." «.‘Payments Rs.
To Balance 1.4.2008 3,/'85" ByBooks 6,150
To Entrance fees 650 By Printing and stationary 465
To Donations 6,000 By Newspapers 1,110
To Subscriptions 6,865 By Sports materials 5,000
To Interest ciiinvestments 1,900 By Repairs 650
To Sale of furniture 685 ByInvestment 2,000
To Sale of old newspaper 465 By Furniture 1,000
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Rs. Rs.

To Proceeds from entertainment 865 By Salary 1,500
To Sunday receipts 125 by Balance on 31.3.2009 3,165
21,040 21,040

The entrance fees and donations are to be capitalised, sports

materials are valued at Rs.4,000 as on 5.1.5.2009.

31.03.2009-60 (plg6uemL_u|lis L6usTiqnasTent ol&6stem st BT
Seriflesr QUM G0 ClFIsHeo SH6vTEHS 0 (HH| 6 (H6U Tl

QFevelentas sev1sme. i flésea] b

31.08.2009-60 (pigeuemL_u|d Sy 65TiqMaTesT Ol L) &60

Ol 5560 &1 G).

ClumiEe ST eh.  OFesseosen erb.
01.04.20080 @mLILy 3,485 Lssmuiamer 6,150
HIEDLP6& &HL_L_6VoTLD 850 e1(Lpaylumme 465
herTolsmemL_ 6,000 GlFwiglsgmer 1,110
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ClumiFE ST erb.
HSM 6,865
(PSH6SL1q 601 Gmest eullg 1,900
SiemMa606sT DM G 685
uswpw Guiiuy elpmg 465
Qumpg Cursdled QUDHME 865

LIMLI6V 6UIT6S 6l 125

BIEOLP6|S &' SiesTLD

Ol 556056 erp.

ellensmum’_(p Clum@L_ssm 5,000

L& LmFLLy 650
[EROERY 2,000
S|EDMG6068T 1,000
FLOLI6M S 1,500

31.05:2009-60 @iy 3,165

LOHMID BETClSTEOL (Lp G560

LOSSIs. 31:05.2009-60 eflememum_(RL1 QLB Sene6r

e 4,002 aTest EHLN LU L g).

20. A fire occuricd in the premises of Kumar Enterprises, Madurai on

Septernber 1, 2009 and the stock ofthe value 0fRs.1,01,000 was

salvaged. The following information was obtained.

18
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Purchases for the year ended 31.3.2009

Sales for the year ended 31.3.2009

Purchases from 1.4.2009 to 1.9.2009

Sales from 1.4.2009 to 1.9.2009

Stock 31.3.2008

Stock 31.3.2009

Rs.

6,80,000

11,00,000

2,50,000

3,60,000

3,00,000

3,40,000

The stock on 31.3. 2009 waz Gvervalued by Rs.20,000. From

April 2009 selling price waslowered by 10%. Calculate the amount

of Fire claim.

@&Wwny stesim Slmysuestid 2009-b eu@hLd GlElL_buy 1-1b

Codlwenm; sizes Hneuen euennagdHed & elugg

emuL_L s. eh. 1,01.000 wéliifeores srs@asen Sulled kb

UTEATSESLUULL 6. LeTeu(hld HHEUEHET 60T

L1960 (B GlLumLILIL L 6vr.

19
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2009-1b eu(HLLD WMFF 31-6v (PplgaienL_U|LD

Qlanem(psH6e0 F16@E) 6,80,000

2009-1b eu(HLLD WIFF 31-6v (plgaienL_UL|LD

ApLenes Cgnens 11,00,000

1.4.2009 (pa6v 1.9.2009 euenruilevmest

AT TS G 2,50,000

1.4.2009 (1pg60 1.9.2009 eueniQsuest

Apuenes Cgnens 3,60,000
31.3.2008 eu(pL_ &r&da;tiy 3,00,000
31.3.2009 eu(pL &5aE8 Ly 3,40,000

31.3.2009 - bweaumLsSlev grafl@mLy ep. 20,000
flsons wHulliul Herteng. 2009-1b 6u(hHLLD
aglitew ellpuenmenr 10 &g efsw Gepeuns

LN (Heere.

&S 2_flenw Carre sewad(hs.

skkok

20 AF-2239




AF-2240 BCO1C2

B.Com. DEGREE EXAMINATION
NOVEMBER 2010

First Semester

Commerce

BUSINESS ORGANISATICN

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks
Part - A (10 x 2 =20)

Answer all the quections

1. Mention any four objectivesof a business.

elwmUNTSP6tT HN6iTS CHT5H8 hSEMeT Fam).

2. What do you understand by industrial revolution?

QsMADHYTL S 6T60.:0T60 6T60TE0T?

3. What are the different forms of organizations?

L60BULZ! CUEHSILITET SHEMLDLILISET WIT6n6U?

4. Define a Private Company.

6ol BMIDLD @e08&:&6wTD Fam).



10.

What is meant by Optimum size?

OSEYD LILIETTSISSHS D66 ET6STMITED 6T60T601?

What are the conditions for Representative Firm?

NoSBs Bmieuewtid eresTmmed eT6dTEnr?

Define Director.

SWESSHIT - euemIWID).

What are the powers of Managing Directors?

BLD6vITETITENID SUISHGSHTIET USSHTILD WiMemeu?

What is the need 1er the Government to regulate the
business?

MUMTSmS 18 QUHIGLBSS Ceustoriowl Gseme er6iTer?

What it reak-Even Pricing?

gdansoLiLeerl eflewed etesTMMEL eT6dTERI?

2 AF-2240




Part - B (5x5=25)
Answer all the questions

11 a. State the different types of Industries.

Sp&555615MPedl6T auena:sHeneT eflaurl.

(Or)

b. What are the qualities of su:cessful businessman?

Q(H S\UHMISILDTEST O1&: HleoPLITl6IT HEITEHLDSHEIT WITEDEU?

12 a. What are the privileges enjoyed by the private

companies’

&6vfl hywlb JlepiLeflsGSID (petTenIfemDa6iT Wimeneu?

(Or)

3 AF-2240




b. What are the differences between a Partnership and

13 a.

a co-operative society?

Sl LMETEDDSHGD FalBme BneersSheh 2 srer

Caumun® wimemeu?

Explain the standards for measurii.2 the size.

Sleneme BiewnulsEGD Srsemws <ual.

(Or)

State the factors astermining the optimum size.

WSEYD LIULIGSTST S58 Siemenel [Biesoruid \FWILLD samisener

efeurfl.

4 AF-2240




14 a. What are the qualification and disqualification of the

Director?

BwsEHleT 5&856T S&Sul6sTenD WIrenen?

(Or)

b. What are the difference hetween Directors and

Margining Director.

BWEGHMBHSGLD G VIoTTMMD PUWEHGSHIHSSLD 2 6Tern

Geoumun® wimemeu?

15 a. What are tiie'special features of Public enterprise?

OUMTSISIenD Bnieuesmhiseaflett FDLIL| SH6TTEMIDS6IT Wimemneu?

(Or)

5 AF-2240




16.

17.

18.

b. Write short note on Industrial Policy in India.

8r3w \SMHD \&meTemssensT LHM N SHILIL SHs.

Part - C (3 x10 =30)
Answer any three questions

Bring out the important economic, social and political

consequences of industrial revolution.

QFMPMH Lo Aufewtmed erpLLL (wpéHuspTesT OIINBETIST, &FeLps

HMID Spdlwied sflemereysemeT ourfl.

Define Partneisiip. Explain main features of

partnership firm?

“SaLLTETITENID - UEDIWM| &l Lmesuremd Bm)6uesr s s e

WaBwIbrm. settemnaenen efleurfl.

What is the Organisation Structure in a Company

Management?

@@ [BMILD GLDEOMETITEMLDUTET SHWLDLIL| (LPEDD WITE)?

6 AF-2240




19.

20.

Describe the various pricing policies followed by public

utilities.

aumgl uwerumL®G Bmieuemuseflesr LeGeaum eflemed

E\&METEMSBHEM6ITL LI 6fleTs&D O\FUIs.

Explain the economies of Large Scei¢ Production.

auflu Sterefled 2 PHUSS QFULIIL-EOUTWE BDLEGSLD

EWIMBETTSNT HESTEnLDGHEWET 6fleya?

3k
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AF-2241 BCO2C1

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Second Semester

Commerce

ADVANCED ACCOUNTANCY—IT

(CBCS—2008 onwards)

Time : 3 Hours Meaximum : 75 Marks

Part A (10 x 2 = 20)

Answer all the questions.

1. Whatis an accommodation bill ?
uewTeugd) mHm| & (N 616DV 6T6vToN ?

2.  What is meant by noting charges ?
SIS &1 _LL6VOTLD 6T6IMTEV 6T6UT6VT ?

3. What are the circumstances under which account
current is to be prepared ?

BHEOL (PN H6wTdE SWiflasliu@n @Lhleneoser

wmremey ?




What is meant by red ink interest ?

Fleuliy emw auLlg 6T6ITMTE 6T65T6E ?

What is Del Credere Commission ?

WemewwTwi & Sl 6TESIMMED 6T6vToNT ?

What is normal loss ?

FNSMT6UDT HL_L_LD 6T6TTMT6V 6168001 ¢

Mention two differences between Consignment and Joint Venture.

LS 19 M @G0 ©) & 6vv1 61l 617 67 &5 (I, 61T 61T 9m

NgSlwnemisar ).

Who arecclled co-ventures ?

Bemcic MemevtEn e eTevTLIOUT WM ?

2 AF-2241




10.

11.

What is a Statement of Affairs ?

Blemev nfl&ens sTesTDTED 6T6BTENT ?

What is the meaning of incomplete records ?

(P(PEOWEDL_ WIS LISl6| 6TemmTeD 6TeuTest ?

(@)

(b)

Part B (5 x5=25)

Answer all the questions.

What are the differences vetween Trade bills and

Accommodation bills ?

eSlwruny =TT 1 U1 6))] & (&) LD LI 6v3T 61 & &)

2_6voTiq WeY|&FensT Caumiuin(higen winemeu ?

(Or)

On-18t August 2007, X sold Rs. 500 worth of goods to Y
atd drew on him for the amount for 3 months. Y accepted
the same. On the due date Y being unable to pay the bill

approached X and requested him to renew the bill for a further

3 AF-2241




12.

(@)

period of 2 months together with interest at 6% per annum.
X agreed to the proposal. On the due date the second bill is

met. Pass necessary Journal entries in both the parties books.

2007, spsevl. 1-ib Gsd X-eremiiand em. 500
wSllLyenLw Fr&Ema Y-5@ elnmrT. Hsn@ 3 g
2_6uoTiq WeneV sT(pSlenn. Y oiema €i2mis Clsmestmy.
bS 2 ewiigwedlen FHeauesew: mrefleo, Y-uimeo
LeTHemS CaBTHHS (P LTHHT X-enwl 3 el
o5 e amgume. TG wissSnE 6%
aul_1qudlev ygILINSs! capbLig CaLl (D& GlamesrLni.
X-9i5n©@ @UUSE OarewLny. Q) rewrLmeug
2 _6UUTLG WL 6) &8y~ H FH 68T Heuemewst Hmefled Liewwrid
Qesglui_g. GOICUL®H udleysenst @ mHeur
T4 ID 5([HS.

How average due date will be calculated ?

ornEfl Seuemewr HNeT eTeUeUTH & 6wT&H S L

uL_Geussor(Hd ?

(Or)

4 AF-2241




(b) Xavier owes to Yusuf'the following sums :

Rs.
On 15th March 2009 600
On 20th April 2009 800
On 15th May 2009 1,000
On 31st May 2009 400

Find the average due date. */bat interest will Xavier pay to
Yusufifthe actual paynient is made on 9™ July 2009 at 9%

mterest ?

Ceellwy et6TLy W& eTesTUIBSE OCaTH&Hs

Geuetrriqi Qz,memns LSlesTeu(mLomm) :

eb.
2009 wryg  15-60 600
eTLre0  20-6v 800

Gw 15-60 1,000

Gw 31-ev 400

5 AF-2241




13.

(@)

(b)

grnafl seuenewt Bremen sewT(HLl. 2femev 9, 200960
Ceallwy welisE uswd Clee)sdHlesmed 9% eul_iq
dgs5dle0 euy GarHss GCeuewriqw eullg

6TeUGU6TIEY ?

What is an account sale ? Give a specimen fcrm of an account

sale with imaginary figures.

AHLIEHEST HEWEHNGHMS 6TeMIT6V 6T6vT6vT ? LOMS ]

LigeuGeng snLemne Clgmensulley &hHs.

(Cr)

Siva consigried 1,000 kg vegetables costing Rs.
4,500. Expenses incurred were Rs.600. If loss due
to natural deterioration in quality is of 10 kg and
if 81Gi:g were sold, calculate cost of stock at the

end.

dleur eteotLieuy 1000 HCeom smusaenst em. 4,500
willyen_wens eliShH CFwusTy. SHMHaHTes
C#eva| ¢m. 600 Quimens fledlestieo 10 HGeor

6 AF-2241




14.

(@)

(b)

BLLewwhsg. 810 SHGeor ellmuenes QFwigme,

s perten grsdlen wHlLliemL sewtaHl (D).

What are the different methods of recording the joint venture

transaction ?

B enemellenest BL6IqHMSBSHEM6N L Sla| OFuiu)b

uevGaum| (peOMS6T Wnemeu ?

(Or)

A and B were partners 124 joint venture sharing profits and
losses in the propcrtion of 4 : 1. A supplies goods to the
value of Rs.505uanc incurs expenses amounting to Rs.300.
B supplies ‘goods to the value of Rs. 4,000 and incurs
expensesdniounting to Rs.400. B sells goods on behalf of
the jGiui venture and realize Rs.12,000. B is entitled to a
cominission of 5% on sales and settles his account by bank

draft. Give Journal entries in the books of A.

7 AF-2241




15.

A-yidb B-yw 4 : 1 ereorp NflgsHleo Qeoru /
BLLS®S ULHTHGOETaTEHD @ O ewevor
Newewruies gal L neflaer . A-Car(hss &rsdlen
by ep-5,000 GFug Gesee ep. 300
B-Qar(ss #rsdlen wdliiy em. 4,000 Qoiig Claavey
em. 400. Qenemwrelemesisans B-eimm =re.dleor iy
eh-12,000. B-a@flw sifle) ellpueneriuileo 5% oy6ur
LiewsTeNlemL_ PLPEVLD &H63uTaR &) (LPIaS il A-uflett 7L 1q.60

SOLCUL (B udleysemen Fin=.

From the following information find out the credit purchase

made during the yeat:.
Rs.

Balance o: ereditors on 1.1.2009 18,500
Paymert to creditors 9,875
Iiscount allowed by them 325
Bills payable given 1,500
Return outwards 600
Balance of creditors on 31.12.2009 10,500

8 AF-2241




(b)

S1p & M) b Xl 6w i 18 & 61l 68) (15 1 &) ABS
LSS D@l sLest Clanen(psamens sevur( Lig.

sLenenysen @@Ly (01.01.2009) em. 18,500;
sLennen(h&@ Cars5s8 eh. 9,875 ; Seuisenmed
Qar(sslLL L geEnLig eh.325 ; anQasiul L
Ceissn@flw  wIOEF_G:  ep. 1500
QeueflHlmLuubd ep. 600; &omreny Ly

(31.12.2009) em. 10,550.

(Or)

Distinguish between Double Entry System and

Single Entrv.System.

friewi. Ldle) yopowwyb, enen udle
wpenmenuiw|bd Cauniu®Sg.
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16.

Part C (3x10=30)
Answer any three questions.

On January 2010, X draws a bill on Y for Rs.10,000 for
their mutual accommodation payable after 3 months.
It was discounted at 20% and proceeds vzerz shared in
the ratio of 3 : 2. On the due date Y draws a bill on X
payable after 3 months for 15,000. discount it for 14,500
and remits Rs. 2,700 to X afterniceting the first bill.
When the second bill becams-due X could not meet the
bill due to his insolvency ¢nd his estate pays only
Rs.3,600 as final settlement. Pass entries in the books

of Xand.

mevreuffl 2010 X erestueur Y etestuieuy g em. 10,000
LW Peam)| TSS5S60 ClFNI555 Fnlql LiewtTeuss)
wIPNESECOL erpSlenny. 2 Letquins ewg 20%
FETEHn ol&Fg Gunm Clgrengsenw G meud 3 : 2 sTertn
alfagdleo ulihg ClarewiLey. Heuenewt mBrefled Y
eteoiLieuy X eteorieu 158 3 wrgsHled CFNGHH Fnlqll
eh. 15,0008 wipm FO s eng em. 14,500-8 @
el L b Gewg, paed wIHNF 4 HaTer Clgremnsenw
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Qe sd) LB em. 2,700-emw X-5@ eILIL] emeusSsi.
Grewi_meug wIOME Feo, X-Sleuneondl el Lgmeo
CleeI55 (Pigwelevenev. jaurg ClensSed hHHg em. 3,600

O CluDNIS ClaTeTTT(H i6UT HETTSHE) (PlGSHSLILIL_L g

&OILCUL (B udlejsenst X-wHMID Y-67L 160 (.

17. Ram had the following transactions with Raja.

2007 Rs.
January 1 Balance due from Raja 1,000
February 16 Purchased goodsoiaiRaja 6,000

28 Sold goods toRara 10,000
March 16 Received a.cheque from Raja 3,000
April 20  Solc guods to Raja (invoice on May3) 10,000
June 16 <Turchased goods from Raja (due on July 16) 15,000
September 23+ Cash paid to Raja 3,000
October 24  Accepted Raja’s Bill for 3 months 5,000
November 26 Received Raja’s acceptance for 2 months 8,000

11 AF-2241




You are required to prepare an account current with necessary
columns of Raja completed upto December 31, 2007 as will appear
in the books of Ram reckoning interest at 15% p.a. on the balance

due.

TUQTe|L6m [JI(P&HES 6DOULL  HL_6LIGEH DS ST

esteu(mHLoTm).

2007 e,
mevteuf] 1 prgr Qar(ss Geuerigu @@Ly 1,000
Wireufl 16 prmrellLib Q&ncT(pgev Clawigg) 6,000

28 pngrelmeE; ~Nmm&) 10,000
OIE 16 priMEdmBE Qupn sTCaTenen 3,000

IL1760 20 puzyredn@ eHma

(G 3-60 @Sl Lg)) 10,000
1o rrredlfl(hBg Clame(pse CFlsg

(hemev 16-60 GlaT(N&s Geusttriquig)) 15,000
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QelLwbur 23 rrgretng Cee)sSw Glrrssnd 3,000

S15GLmuF24 grgnedlen 3 wrg wIHNHIFL(H

anMI& GleeTemiLL_L g 5,000

HEUDLIT 26 2 LOMG 2 65uTiq o] & &) TmeTellast eymL

18.

CuUD SO STeTETLILIL 1T 8,000

iggouy 31, 200760 TIQINI—60T 2 66T KWL (PEOME
SHETUTEHENS LD 67L_19.60 FWITNESHELD. 6E0TIqM &) 6uL_lg 15%

616018 &655T&HE ().

X consign to Y.16Q0 fans costing Rs 180 each, at invoice price
Rs. 200 per fai;; pays Rs. 1400 for expenses. Y remits Rs. 5,000
as advance aud spent Rs. 1400 for expenses. Y sells 600 fans at
Rs. 260.¢ach for cash. Y remits the balance due by a bank draft
after-deducting commission 5% and del credere commission at 10%.

The consignee incur a bad debt of Rs.300.

Pass entries and prepare necessary Ledger accounts in the books

of both the parties

13 AF-2241




19.

X e1ev1euy Y eTe0TLIOU(HSS) vl ¢h. 180 |L_s&(pemen
1,000 efldiPlaemen em. 200 @i efleneoull_ () i eniliH
Qewdlpry. X Glewg GCesevey ep. 1,400. en. 5,000
(pestLewTonS Y ieilid eneusSmny. Sjeul Clews ClFevey
eh. 1,400. Y 600 eldlnfls:enen eevtilent edlemen (. 260 etewt
QrrsasdnE enmry. sifley 5%-b Gerewr sifley
1%-semgwb sPsFer s weTen CFTenass @ eumid
vemellenLenw Y el eersHsny. enliih

CUNIKBHSE FHULL 6urTns &L_eoap. 300.

@meauir gligen GALGL 2 udleysepw, CuGri®m

& 65015 (5)5M6ITU|LD &(TH.

Anbu and Babu doing husiness separately as building contractors
undertake joint!v va.construct a building for a newly started joint
stock company for a contract price of Rs.2,50,000 payable as to
Rs. 2,00,00¢ by instalment in cash and Rs. 50,000 in fully paid
shares of the company. A bank account is opened in their joint

names. Anbu paying Rs.62,500 and Babu paying Rs. 37,500. They

14 AF-2241




also to share profit and losses in the proportion of 2/3 and 1/3

respectively. Their transactions were as follows :

Rs.
Wages 75580
Bought materials 175,500
Materials supplied by Anbu 12,500
Materials supplied by Bai= 10,000
Architect’s fees paic.by<anbu 5,000

The contract was conp’stcd and the price (Cash and Share) duly
received. The joiat venture was closed by Anbu taking up all the
shares of the company at an agreed valuation of Rs.40,000 and
Babu takiag up the stock of materials at an agreed valuation of

Rs.758¢

Show the Journals and prepare Ledger accounts.
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sligl @UUBSSMITES Seaflssaflurs Qgmfler Lflbg
QU(BHLD 6T MM LITL| eTenLIeUTaHen @ LSl dnl_ (B
umiE Bnwsdne ep. 2,50,000-8@&s SLiql 1D esTm)
MWL HFH GG HL B enemelenenienw ComHbl & meserL_svry.
@LUUBS ellenevenw em. 2,00,000 Qrn&swrsea.oh. 50,000
sibs BpiosSer wpo> Qe Lnissmsan
Sriu@wb. esry emh. 62,500 umy em. 31,500-b LB
Omemaumdls sewsblanerm- siensdleny. Geomu

BLL G0 %-u.ub %Qﬁleﬂggﬁ]d udlihg O&reTeusns
Wige] OCeuger). IauiwEHmMLW HlgallydHend

esteu(pLomm) :

erb.
.60 75,000
s&&m QunmAT cmadlwg) 1,75,500
6T Ii611S,F HEFFTLGILIT(H6T 12,500
UMy &6M&g S&emlblummer 10,000

BLIqL &6V (6hH(HSHE) 6T ClaT(Nss &L ewrd 5,000
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20.

RUUBSL WisEsLuDNn, UUES elemeouwd
QuUDLILL L g)|. 6T 616060 LikI@GHS ememuyd eh. 40,000
etesTm WH LS 199D, LMy epeod Clum@mer @ @mLenL
eh. 7,500 etesim wHLUS 1960 T(NSHE OGlameTen

Benewmellene (pigeDOS).

SOLCUL (B udleysenstuyd CLCTL (R GenTaE@SHemnemu LD

s1_(Hs.

What is single entry system ? Explaiti thosteps involved in calculating

profit under conversion methoa:

@nemn Lley (peom eTesiyTe) etetest ? @rlenLLi1 uledn&,
LIHHID (PewDUled eamLiHems Hewradl. GCHemeauliLi(HID

uevGeumy) LigHlemecsmer eleufl.

skkok
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AF-2242 BCO2C2

B.Com. DEGREE EXAMINATION
NOVEMBER 2010

Second Semester

Commerce

MARKETING

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks
Part - A (10 x 2 =20)

Answer all quzsiions
All questions carr;ecgual marks

1. What do you mean by market?

FH6MG 6T60IMITEL 616016017

2. What is market segmentation?

FHEDSLIGLIL;, 6TRTDIT6L 6163T60T?

3. Defire. Warehouse.

EUEDIIM): LIGTITL SETEM6D.



. Explain the meaning the grading.

s Lfgs606r SiT5556ms 6M6nsESs.

. State the types of Product.

eun@eflesr auens:semen 6flensd.

. Define: Consumer goods.

EUEDIUIM) : HBISTEEUMT EIIMIHET.

. Who is called Salesman?

6ADLIEDETTIITONTIT 6TEOTLIENT WiifTT?

. What do youur.derstand by Cash Discount?

O\WIM&& SHCTwHLIQ 6TETTDITEL 6T60T60T?

2 AF-2242




9. What is Breakeven Pricing?

gLBemeoLiLjeerl eflemed eTesTMMEL 6T6dTEDI?

10. What is Bid Pricing?

760 6fll6m6V ETEBTMITED 6TEDTE0T?

Part - B (5x5=25)
Answer all questiens

11 a. Write a Short note an Markeuing Mix.

FHENSGS &H6vensr LD Ar &L 61(L&Is.

(Or)

b. Discuss the reed for Market Segmentation.

SHenSHMul LUGLILS6T CHemeugens efleurflss.

3 AF-2242




12 a. What are the types of standards?

SUSS60T LIsdGAUN)] CUEDSHSHEIT WITED6U?

(Or)

b. Enumerate the importance of transportation in

marketing.

shemsulweler CUNEGMISB6T (DSBS UGS 6loTsHEs.

13 a. Enumerate the fun:tiuns of packaging.

&L Bel556060T GiciLeoLITBaHmaT 6H6185HEs.

(Or)

b. Whet are the kinds of brands?

GSMILIiP6ST LIdBEUD) CUEDSHSBEIT WIMEmeU?

4 AF-2242




14 a. Explain the advantages of advertisement.

6flembLITSHS60T [HETEMLDSHET WITEWEU?

(Or)

b. Write short notes on Sales Promotioa at retailer level.

Slevevemly EUTSSHSHIT Slerefleonest 63 uemest GLOOUIMEG LD Am)

SN 6Uenrs.

15 a. Explain the objectives of pricing.

eflemeoullLedles. Bmmasmigsener efleurl.

(Or)

b. Explain the types of Pricing.

sflemeoBiieworulIILIBET UMSHSHEIT WITEWEU?

5 AF-2242




16.

17.

18.

Part - C (3 x10=30)
Answer any three questions

Explain various bases of segmentation.

FhenSMWL LGLIL \FLIeuSHSTes LIeoGaum| i oLt lenLsemerT

efeurfl.

Discuss briefly various functions of marketing.

shensuiwedlest LebGaum) Lsw 16 e sfleurflss.

Discuss various singes of Product life cycle.

awngperfletr QImpsens sphdlullesr LioGaum) LipsenerT eflens&s.
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19.

20.

Explain various advertisement media used in

marketing.

&HemSUIBSH60l60 LIW6STLBLD LisoGeum) 6M6TDLIT 6llie; hISE06IT

efeurfl.

Enumerate various factors that 1z:fluence the price.

sfleneoemw Briewruls@ LeICium snrenfilsener eflorss b

OFUWIS.

—_— = — kX
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AF-2243 BCO 38C1

B.Com. DEGREE EXAMINATION
NOVEMBER 2010

Third Semester
Commerce

PRINCIPLES AND PRACTICE OF INSURANCE

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks
Part - A (10 x 2 =20)

Answer all quzsiions

1. What is indemnity?

FLOMIS ETETTDIT6D 6T60T60T7

2. What is meanvhy “Subrogation™

“uded 2_Menin EILIMeED” 6T6tTMITED 6T6dTENI?

3. What do you mean by Life Insurance?

SpWTEMIIE eT6sTmITeD 6T60T601?



. What do you mean by endowment policy?

SmiPBewed FHI'LTEU6TITLD 6I6TTMITEL 6T65TE0T?

. Whatis War risks?

@M GLASET 6T63TMITED 6T60T60T?

. What is meant by faith?

&ML IgED BLDLNGEWS 6T6dTIT6L, 61 776017

. What do mean by insurance?

MG 6T6tTDITeD 6716075077

. What is“nomination’?

IBUILDCoID 6T6dTDIMED 61631602
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9. What is surrender value?

@ULIEDLLIL| LDLIL| 6T60TMITE0 6T60T60T?

10. What is meant by Marine insurance?

&L60 SMUILID eT63TmITeD 61601607

Part - B (5 x5=25)
Answer all questions

11 a. Explain origin of Insurance?

sl getr eugeonmy efleurf)

(Or)

b. What are the essential of sound insurance plan?

sTuSE HLLEHS6i Heved H&GBHemen sffeurfl.
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12 a. What are fundamentals of life contract?

“DpWeT RUILIBSLD” DHielILIeL Samisener efleur].

(Or)

b. What are the types of Life Insviance Policy?

SpWET ST Q6T CUENSHSHENET AMNCTEHGS.

13 a. What is the procedtre ior taking a life policy?

SpWeT SMIIE ehE b audwpenn 6M6TéESs.

(Or)
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b.

14 a.

Explain agents report relating to medical

examination.

mHSGIeN ufGensenes A\STLILING (p&efletr Sinfl&engemnwl

efeurfl.

Explain settlement of claim?

2 _rflewip Ganmed Sitemeu sffeurfl.

(Or)

Discuss the demerits in privatising life insurance

corporation?

ObweT sMLAE BoieuengHenert &esflumibuILDTE @ 6usTed

gOUGLD._&supdemear efleurl.
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15 a. What are kinds of policies in Fire Insurance?

& smiLiLlipetT euenssemer efleurfl.

(Or)

b. What are difference between fire ar.d marine
insurance?

S&&MISE HMID SL6d ST gett ResnnBaemer efeur].

Part -C (3 x 10 = 30)

Answer any three questions

16. What are the importance of insurance?

sMUSLIges (wWpaPwemhsicud efleurfl.

17. What arciiethods of payment of Premium?

SMLING NSNS SEQBHSID (penmuileneor efieurfl.
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18.

19.

20.

Explain the role of LIC in India?

Sidwnefled er6v.g3.fufett LmiBewent 6fen&ESs.

What are the various clauses in Fire Policy?

SMIIE SperuenigPHed SMeTILIBLD (WPpHPW Fuogisener efleurl.

Explain the procedure for settiement of claims in Life

insurance.

SpWET ST IE0 LITTGATIHD wWenmenw! efleur].

—_— kX
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AF-2244 BCO 3C2

B.Com. DEGREE EXAMINATION
NOVEMBER 2010

Third Semester
Commerce

MODERN BANKING - THECRY

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks
Part - A (10 x 2 =20)

Answer all quzsiions
1. What is known as mixed Larking system?

&60LILN6DT 6urhied (LPEDM 6T£TM)160 6T60T60T?

2. Define Unit hanking.

S60fl 6UhIS QUM oHlEO&ESHETIND &([hHS.

3. Whaias Commercial Bank?

6u6Tofla 6UMRIS ETEITMITEV 6T6DTE0T?



. What is known as Lead Bank?

WPEHTGEDINIQ QUM ETEITDITED ET63TEI?

. Write short note on Regional Rural Bank.

aILLnT Sumb aukid &NISSH Fml GO euenTes;.

. Mention few credit creations techniques of Banks.

QLIS 61Tl60T HL6T 2_ (eSS (e &6T Sleveunenn GMILILNBS.

. Write short note ¢»"State Bank of India.

ungs eCLL 6.mu8) GMISS Fml SMILIL 6uemTs:.

. What uo you mean by Bill Market Scheme?

SHOUCTTTE FIHENG (LPEMM ETEITDITEL 6T6IT60T?

2 AF-2244




9. What is meant by Electronic Clearing System?

LoetTeoTem)| Sii6SFBFEmEN 6T6TMITED 6T60TET?

10. Write note on the capital adequacy norms.

Gungjorenr PpS5eSLG P @Misa fml GYILIL cuenTs.

Part- B (5 x5=25)

Answer all cudecions

11 a. Discuss the merits anademerits of Unit Banking?

SevfleumiBufedT HesTemLL%6ii LDHMILD GSENMESHEM6NT eeuTHss.

(Or)

b. Whati: meant by Scheduled Banks? Mention any four

suchibanks in India.

Sl LeuenevoruNedl L eurud eredrmmed ersiTenT? rbHwimeflen
2 _6Tem JeUaINS EUMIBSH6ET TenaIGWENID [HT65TSH D6

SMHILLILeYD.
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12 a.

13 a.

Bring out the significant role played by commercial
Banks in the General Economic Development of a

Country.

IBITLIQ63T EWLITIHETISMT eueTiESudedr suetolla: eurhifae ShHMILD

PSS LUMIBewest e1BSSHIENTSHS.

(Or)

Explain the modern servicés rendered by Commercial

Bank.

euewlla eubidse Dby melievrasmen Lewllaene elense@s.

What are the functions of Regional Rural Banks?

e Ly Symb eurkidserflesr LievlleT wWimemeu?

(Or)
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b.

14 a.

What are the main considerations that the banks

undertake under Investment Policy?

WSSLB Q\smeTensulen S urhiBSH6T SHIHSH6 E\HMETEDHLD

efleQWIkIG6T Wmeneu?

Explain the role of State Bank of India towards Small

Scale Industries?

dAm e\smPleosst Wsmenm LMIE 6 CLL eumuduiledr Limideneur

NesGs.

(1)

Examine quasatitative methods of credit control.

SleTemeuse il SL6ST SLGUUMLG pemmuilenest LiGLILITLIEY

O\FUIG:
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15a. What are the Complaints which the Banking

Ombudsman can admit?

aUrhifd GSEMDSTLILITEDETILILD 6THS CUEHSITEN GHEDMSEM6NTE

5660188 60MD?

(Or)

b. Mention the advantages and-disadvantages of

Privitasation of banks.

6urhid SeuflLLIMIT LDWILDTES606lT. HETTENLD HEMLDEHENET GSMLILIBS.

Part-C (3 x 10 =30)

Answerany three questions

16. Classify the banks and bring out the salient features of
each of tucm.
QIMBIBR60IT QAMSLILGSS SleuhmlesT & e6ufls s eiTenipsenear

&OLULGS.
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17.

18.

19.

What are the various innovative lending schemes of

commercial bank?

auenfls aumidserfletr LGN LBl SL60T SLLMISET WITEn6eU?

Do banks create credit? What are the iimiting factors

that affect credit creation?

EURIBSHET HLEWET 2_(HEUTHGSSTMET T Heueume\nesfled SL 6o

2 _(HEUTEHSHSH60 2_6iTerm GLALLIMER6:T WITemeu?

Explain the powers.¢f K31 under Banking regulation

Act.

ambid QURIBISE:: FLLESS6T S SpbSw Maie amdsau

DB aMIHRISe06T 66T ESs.

7 AF-2244




20. Elaborate on the grievance redressal procedure adopted

by Banking Ombudsman.

ands GmDSTUTMELID GSmDEHemeT Beuisd Q\Fuiu|b

IBewLpemmenit sfleurfl.

skkok
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AF-2245 BCO3C3

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Third Semester
Commerce
BUSINESS STATISTICS
(CBCS—2008 onwards)

Time : 3 Hours Maxiraum : 75 Marks

Part - A (10 x 2 = 20)

Answer all questions.

1. Define Statistics.

yeirerfludlweS 6sr Qisol B6wTID &(1H.

2. Whatis S2uaipling error ?

wrEnu Yeww eTeaTmmey eTevTouT ?



Explain Arithmetic Mean.

gl (& erneflenw elens@s.

What do you mean by Dispersion ?

FBMm60 6TemeuB6T 6T6TLIGEN GlUI(TytiT Wneneu ?

Describe Rank Correlation:

ST L (Oneveu elleui.

Define Regressisn.

QarLjGung@- euenrwim).

What is index number ?

SMUIL_ (D) 6T6TTT 6T6UTM M6V 6T6TTEW ?
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8. Explain Fixed Base Index number.

Bleweo jiqliien GmnluTLClL_evstemever 69l 6mss@s.

9. What is Time Series ?

STEVSOIGTL_IT 6T65TDHM6D 6T65TE8 2

10. State out Moving average method.

B&@HD FTEfl (PeOHTOUL Fom) .

Rart-B (5bx5=25)

Auswer all questions.

11. (a) Esp'lain the importance of Statistics.

yemeflullwedSlen (paflwisgieuseng ellens@s.

(Or)
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12.

(b)

(a)

(b)

Describe the characteristics of a good

questionnaire.

(1 Hevev eNlesrmliLiiquieSlen SpLidlweoL|semer
eeuffl.

Explain the requisites of a.gocd average.

@ Bevev ermgflllen ievTlsemen eN6ns @ s.

(Or)

Calculate Median from the following data :

x: 28 .50 35 45 20 55 30 40
f o9 12 15 10 20 12 25

5PBNEmID NUTEISEHSE DevLHleneowenena

&6wTSH S (D&,

x: : 25 50 35 45 20 55 30 40
f 7 9 12 15 10 20 12 25
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13.

14.

(a)

(b)

(a)

Explain the types of correlation.

L (meler cuemasenet el6ns @s.

(Or)

Calculate concurrent deviatiox».from the data

given below :

X 36 42 59 45 47 14 49 57
Y : 49 53 72 80 2)+29 39 30

QaraasLuL (Ren T eXlLITEI&ETH5 ) &660TSTesurL_

N6VBHED (LPERLAT UI SHTETVTS.

X 361259 45 47 44 49 57
Y @ #9353 72 80 21 29 39 30

Déseribe the method of constructing Index

Number.

SMUIL_GOL_630T ) 6emLSH G (Pemmaener edleuifl.

(Or)
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(b) From the following data, calculate Index

number through aggregate expenditure

method.
Commodity  Quantity Pricein Trice
in 1992 1992 i, 2002
A 50 15 29
B 40 %0 40
C 80 12 20
D . 109 18 25
E 60 25 50

6 AF-2245




SPp sremib NUrhsEps@ Cwrss Glmey
wempulled GNuIL () eTevTEn 6Tt B6TITSH S (D\35.

Qum(me N 1Y elemev elemev
1992 1992 2002
A 50 15 29
B 40 20 40
C 80 12 20
D .. 100 18 25
E 50 25 50

7 AF-2245




15. (a) What are the components of Time Series ?

an1evg Qgm_fles ueoGaim samiseT Wreneu ?

(Or)

(b) Fit a straight line trend for he following data :

Year : 1990 1991 1992 1993 <1994 1995 1996 1997 1998
Production : 50 75 49 80 5 95 75 100 110

Sp sram b NMurnsepsEd CriGurss

CarlenL s6wis:8i(Hs.

opewr@ 0 1990 199141992 1993 1994 1995 1996 1997 1998
2 pusd : 50 75 749 80 60 95 75 100 110
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Part - C (3 x 10 =30)

Answer any three questions.

Explain the method of data collection

F56a160 Caafla@ (penmasemen 6o &@s.

Calculate Quartile deviations and its coefficient

from the following data.:

X 26 28 32 35.29 24
Y : 6 7 9 18 . 6

SIP ST LD NI IS ETHEE) HTEVLOME 6X60&8 D OMHMILD
315681 Cl&(proeu sesradl(Ds.

X v 28 32 35 29 24
Y. 6 7 9 10 7 6
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18. Calculate Karl Pearson coefficient of correlation.

X 1 65 66 67 67 68 69 71 73
Y : 67 68 64 68 72 70 69 70

anjev wisesflesr oL (Hneys C&pemeu s.swwrsdl(H1s.
X : 65 66 67 67 68 69 71 73

Y : 67 68 64 68 72 70 69 ‘70

19. Calculate Fisher Ideal Inder Number from the
following data :

2000 2001

Commodity  Price ~.uantity Price Quantity

Rice S 15 7 12
Wheat . 4 5 6 4
Sagar .. 7 4 9 3
Tea .. 52 2 55 2

10 AF-2245




&

SDEL_O\L_etsten sver sev1s8 (D&.

Qum(me

o f &

Cangeno

FT&H G560

& ITew)| LD

2000

emev 36y

11

15

(W]

el LTI & @5 & (&

6'}906)":\}

55

19 e, il 6o

2001

Sieney

12
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20.

Fit a straight line trend through the method of
least square for the following data. Also estimate

the value of the year 2005 :

Year : 1994 1995 1996 1997 1998 1252, 2000
Production : 110 115 130 140 145 «<16u- 180

S H1ewI b NLUTEISEHSHE GMDHI 7658 (penmulled
CGura@ GCarlgeer eawsg, 2005-gd

SpewTigmanen Cuns @ wHUIED olFls.

Year : 1994 19951996 1997 1998 1999 2000
Production : 110 115 130 140 145 160 180

—Ng skkok
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AF-2246 BCO3C4

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Third Semester

Commerce

ADVANCED ACCOUNTANCY—II!
(CBCS—2008 onwards)
Time : 3 Hours Maxinium : 75 Marks
Part A (10 x 2=20)
Answer all question:

1.  Define “Partnership™.

FoL_L_METITEMLO 61 60 TUI [Ty

2. What s fixed capitai ?

Blemeowinest ((2&50 6T68IMMED 6T6TTONT ?

3. What &< you mean by old ratio ?

Lenpw NElSLID 6TETMTED 6T6TEN ?



What is sacrificing ratio ?

FHwns eNFsLd eTer1mMED 6T6BTEN ?

What is realization account ?

F76| H6w0TEG) 61656V 6T6TENT ?

What is meant by Memorandum Reva!uation account ?

G&DILY NS LS6H eTemmTed feTesr ?

What do you mean by insalvency of partner ?

Qpmgliyhleneo gt L uafl sresimmey eT6vT6RT ?

What do you' riean by Profit and Loss Appropriation

account ?

BeonipL L&lT6| HewsTSH ) 6TEIMTED 6T65T6N ?

2 AF-2246




10.

11.

Explain :— Garner Vs. Murray.

aryesty Vs epiGr eSeufl.

Who do you mean by Proportionate capital of niece-meal

distribution ?

Adlgrenr wpeonulleo 2 LIl (PGeL eTesTMHTEY 6TEBTES ?

Part B (5 x5=25)

Answer all the auestions.

(a) What are the rules applicable in the absence of

Partnership Deea ?

gl Lnewiead uSSrn Qeveors Hemeoulled

QFweoL calquw eNFEHen6T Fam)s.

(Or)
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(b)  Show how the following items will appear in the capital

account of partner X and Y when their capital is

fixed :

X Y

Rs. Rs.
Capital ason 1.1.2008 .. 40,000 35,000
Drawings during 2008 8,000 7,000
Interest on capital at 6% 2,409 2,100
Interest at 5% on drawings ... 200 100
Share of profit for 2008 N\ 4,200 3,300
Partner’s salary 3,600 -

X, Y aesiGrmj-flemev (psev Oamewni gol L nefluns
Bma@wolunws Speaumb CFwuSasr e rmenLw

(PS6V 65518 GH &6 eTeueunm| Camesmd ?

X Y
e e

1.1.2008 eyemempws (ps60 ... 40,000 35,000

2008 eyermigen @Y ... 8,000 7,000

4 AF-2246




erh.
6% (paev g eul_lg . 2,400
5% e1(pliy g euL1q 200

2008 oy evwrigen @eonu Lk ... 4,200

gaL_L_nerflaerfleor 2ereluid . 3,600

12.

(a) Explain Interest on Drawings.

(b)

i1y g mesr eul g eSlenfl.

(Or)

erb.
2,100
100

2.300

A and B sharenrofit and losses in ratio of 8 : 5. They

admit C as.a iew partner. Both of them share equally.

Find out t}i= new ratio.

Acanmin B 8 : 5 elldlagdleo eomu pLL_Sens LSTHE

Cmrendlpriser. yHlw sl Lnefl C eow Ceisg

Qarewrmjser. A wpmiw B s#flgwwrs udinhg

Qarendpriser. yHw eNflss5ams sevr(HIig.
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13.

(a)

(b)

What are Journal entries for goodwill while on

admission of partner ?

HySlw gL neflaer Ga@mb Glunpg BH6ILW HEsTe
weoblenevd @GMILIL| 1660 ?

(Or)

Siva and Vishnu are partners'in the ratio 3 : 2. They
admit Ayyappan as a partner for 1/4™ share in the
profits and he brings Rs. 12,000 cash for goodwill and
Rs.20,000 for capitai-itis decided that the capital of
partners are be inptueiit sharing ratio. Show how the
goodwill is shared ainong the partners. Show Journal

entry for goodwill.

deunr wpob elesem meuwmd 3 : 2 eTenim
MflagHlev gnl L meflaen. QuiwliLes eremLIeuenT
RisnHev @ UEI@ gnl_Lneflwns GCersdlemmer.
Gaui er.10,000 BpHOLWHSSTED, eFH.20,000
£LP 60 & 6¥T LD T8 6 LD @ & vt () eumSAmy.
gL Lneflgeflless (oo sews@Gsst Qeomu
Nlasdler Qmas Ceauemrolwen (pigeumuiipmi.
BHOLWBSS WSH GHLCLE SBs.
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14.

(a)

(b)

Distinguish between Realisation account and

Revaluation account.

Sirey seww18 @ LOHMIL LNILSLISTH sesvTHElM @, 2 6men

Ceoumium(@ &6 wnemeu ?

(Or)

P, Q and R are partneis inhe ratio of 3 : 2 : 1. The
firm had taken out poiicies on the lives of partners as

under :(—

P—Rs.2C.020; Q—Rs.15,000; R—Rs.10,000. The
premiuin_rn all cases are treated as expenses and
debitato profit and loss account. On 1.7.2007 Q died.
Glvejournal entries. The surrender value was 30% of

iz amount of the policies.
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15.

(a)

P, Q wpmib R etettn ol _meflager 3 : 2 : 1 etet1m
Ndlggdleo 2 emenevty. QeuTseng |6 LG U6

a1 L b eipsasLiLL_(Hemerng.

P—er.20,000; Q-—¢p.15,000; Re#.10,000
Qessiu@on. WAdw gmms GCeFeeuns
sHSUUL(D eoru B L seww1ae™ e1(pSLILLL g
1.7.2007 Q @miani. urelfoeatsst el wdiiLy 30%
&eomeuns CamsmeniL(RE NS Qgnaner Liflesener

S([hHS.

What are the prqoiems that come up while existing

firms are meized vith new firms ?

yHw BligotenmisepLes Lenpw Hlmieless &senet
Gemeva@n Cunws anu@b Nrssenensen

wremed ?

(Or)

8 AF-2246




(b) R, SandT share profit of a firm inthe ratioof2: 1 : 1
respectively. On the date of dissolution the Balance

Sheet stood as follows :

Balance Sheet
Liabilities Rs. Assets Rs.
Creditors 10,000 Assets 60,000
R’s Loan 5,000 Casizinrhand 1,000
S’s Loan 3,000
Capital : R .. 20,000
S . 155000
T 58,000
61,000 61,000

The-asset realized Rs.45,000 which were received in
instalments of Rs.15,000, Rs.16,000 and Rs.14,000. Show
how proceeds should be distributed as and when received

by following the proportionate capital method.

9 AF-2246




R, S vpomw T eorupl L gewg 2 : 1 : 1 eew

flaflesment. SemeoLi BKewL_GlumM ojestmi B (HLiLHlenev

GO sriulQeTeng.

QummyLiy
sLevithCH iy
R wlest 61

S ulesr L6t

oo —R ..
S ..

T ..

fouybee @Bloy

erb.
10,000
5,000
3,000
20,000
15,000

8,000

61,000

Clens g erp.
Qensgisas:. 10,000

Qurssamay 1,000

61,000

ClEns 81586 sulp)LieneuTulled OISO eh.45,000 616wt (GO

FeueneuwTitiav eh.15,000; @resurLmb seuenewtuiley em.16,000

MDD £:06TTDLD SeeneuwTullev erm.14,000 (pgev elflgsSlen

Uig-tiewrd eTeueunm NWflggefllssiuL g aatums

SnesuTLI&&6LD.

10
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Part C (3 x 10 = 30)

Answer any three questions.

16. A and B are partners in a firm. They share profit and losses

in the ratio of 3 ; 1. Their Balance Sheet is as follows :

Liabilities Rs. Assets Rs.
Capital A .. 80,000 Building (....1,00,000
B .. 40,000 Machinery ... 25,000
Reserve ... 40,000 Sthck ... 40,000
Creditors ... 60,000 Debtors ... 70,000
Bills Payable... 20,000 Cash .. 5,000
%(; 2,40,000

C is admitted into partnership for 1/5 share of the business

on the folitwing terms :

(1) Huildingis revalued at Rs.1.20,000.
(i1) Machinery is depreciated to 80%.

(iii) Provision for bad debts is made 5%.

11 AF-2246




(iv) Stock s revalued at Rs.30,000.

(v) C should introduce 50% of the adjusted capitals of
both Aand B.

Open necessary Ledger accounts and the new Balance

Sheet.

A bpmib B srhiseEhenL_w &l LTewrenin suml B L Seng

8 : 1 eeorp MNAgs5dHe0 LSTHE Osmendlermenri.

SleufsEnenLw L Hlemeo @il Lisstel Homm).

QummyLiy

w0 A ..

B

S

sLevithCHT ...

Clee)Ssn
&Sfw Iy
(b

2,40,000

erh. bicTS g
80,000 & _IgL_LD

40,000 @i

40,962 TS
€0.000 SL_evtmerfla 6.

Olrr&&L0
20,000

12

erb.
1,00,000
25,000
40,000
70,000

5,000

2,40,000
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C aanliLmefl 1/5 umi@ Mdlgsder eNwrursdleo
Cersasiu@EAmT.

(1) sgrw  ep.1,20,000 &@ wowdHiSe

QEwnwiul L g.

(i) Qundlrn 80% &@ Cxuiwmesid C& u it L_g).

(iil) eurnsL6t &1585M 5%.

(1v) &ra@ em.30,000 8@ wmy oS GEwwiul’ L g).

(V) Awpmib B efle il L wpgedleo 50% “C” ufev
IANWsLLESHLILL ).

Coemeuwnes Hewensgs CuCrOsst womb 4w
SmuyBlene) @GBLY euenrs.

13 AF-2246




17. A and B are partners in business sharing profit and losses

A 3/51 and B 2/5™. Their Balance Sheet as on 1.1.1989

is given below :

Liabilities Rs.
Capital A .. 20,000
B .. 15,000

Reserve ... 15,000

Sundry Creditors ... 7,500

57,500

Assets
Machinery
Stock

Detitors

Casnatbank ...

Cashinhand ...

Rs.
.. 19,500
... 16,000
... 15,000
6,000

1,000

57,500

B’s decides to retir¢ from the business owing to illness and

A takes it over tixe following revaluation are made :—

(1) Gooawill of the firm is valued at Rs.15,000.

(i1) Bepreciation of Machinery by 7.5% and stock by 15%.

(iii) A bad debts provision is raised against debtors at 5%

and discount reserve against creditors at 2.5%.

Prepare necessary Ledger account and Balance Sheet

of A.

14
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A vomib B srisepen_w eSlwruny eomupl L gglew
wpenpGuw 3/5 womibd 2/5 gs uflinbg Ceraidlementy.

1989 meneufl YeufsenemLw Ly Heweo @Gy

esteu(mHLoTm).
QummyLiyger erp. Clens g s erb.
waso A .. 20,000 Qupdlyn ... 19,500
B .. 15,000 graaaply ... 16,000
sy .. 15,000 sLesmerflsen ... 15,000
sL_eviHCHMy . 1,500 euidlullmly... 6,000

sy ... 1,000

57,500 57,500
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B GuwlGe @Ml Cadlulled efevdlestmy. A Sipaevor
woILHIT 4DE VD@ s1Cear Nlwrurrsens eSS
Qanendlmmy.
(1) mewt iy er15,000.
(i) Qurdlrd 7.5%, Csuiwrernd ; sresmpuy 15%
LS LD&ESD ClFuis.
(ii1) sLevneflast g 5% eurnasiea R&&HSEE WHMHILD
sLefbCaNT 158 2.5% Hememetls, SMLIL DOUDSSIS.
Caemeuwnest CLIGTL_(h sew1a (% vnmib LSw SmLibleneo

GO euenrs.

18. XandY are partners sharirg profits as 2 : 1. The position of

the firm was as follov/s on 31.12.93 when they decided to

dissolve :—
Liabilities Rs. Assets Rs.
Creditors ... 15,000 Machinery ... 25,000
General Reserve ... 10,000 Furniture ... 4,000

Contd.
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Rs.

Capital— X ... 22,000
Y ..22,000

69,000

The realisation were as :—

Stock

Debtors

Cash at bank

Rs.

.. 10,000

... 20,000

.. 10,000

69,000

(1) Xtookover machincrs and furniture at book value less

10%.

(i1) Y took overthe stock and goodwill at Rs.17,500.

(iii) Debtors realised Rs.18,500.

(iv). Creditors were settled at a Discount of 5% .

Close the books.

17
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X, Y @meum sal L neflaemns o smenevty. 2 : 1 eddlgssle0
Beorugdlenen LElTHG Clarandlenmerry. 1993 abur 31
Sjeumeen jeuiseng @@Ly Hleneo@miliL 2 emerLilg

cuenfla gemwlifenes senevsg Gaemen Siwnesilsseury.

QummyLiyger erp. Clensg a6 erb.
a6l Gy ... 15,000 Qum)QgTE1Y...25,000
Qurg e&s58@ ... 10,000 LD6; <1 5] 65 63BT

Cramme .. 4,000
(P60 — X ..22,000 gredmuy ... 10,000
Y ..22,000 sLenmeflaer ... 20,000

euigludlen

o e Qrnssp ... 10,000

69,000 69,000
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(1) X Quml Qgn@Llllenemrujb, Lb6w 6v15) 65 6vsT
10% @ u @ e e Uy D & 61T 6Th LI Lg. Uil 60

QICELTEAE M A

(i) Y ersflmullensuybd, meswdllienuuw em.17,500
RICEENAET G

(ii1) em.18,500 sLevmeflgefl_O(Bhg SHel-558.
(1v) sLefhCxmy 5% gemempuiguiley Ol FepgsinlLg.

auenfla emwliter e(Dsemer (Pl Seisml_(D\s.

19. A and B were in equal partnerstip. Their balance sheet stood under

on 31.3.2005 when the firm wes dissolved :—

Liabilities Rs. Assets Rs.
Sundry creditors 3,200 Cash at bank 180
A’s capital account 40 Debtors 500
Machinery 1,200

Stock 400

Furniture 300

B’s Drawings 1,020

3,600 3,600
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The assets realised as under :—
Machinery Rs.600 ; Debtors Rs. 400 ;
Furniture Rs.100; Stock Rs. 300.

The expenses on realization amounted to Rs.140 AU nrivate estate
is not sufficient even to pay his private debts whereas in B’s private

estate there is a surplus 0fRs.140 only.
Prepare necessary accounts.

A wpmyb B #w&n 1 1L_reflgen g culr. g 31.2005 Hmieussid

semeusaLILOID GCurg @\(niy Hleneo@miiiL lemeumommi.

QurmLIL &6 e, Clens g s erb.
sLeihGCxry 3,200 aumdluieo Grrasn 180
A ulest (360 420 sL_evterfla6i 500
Qumeuens 1,200

Frad (mLILY 400

LemesiglenessrolLimmer 300

B ulett er(pILiy 1,020

3,600 3,600
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Clang g sae Llemmeu TN STHSLILILL ).

Qumiser em 600 ; sLevnneflasr epr400.  LDEW6wTH) 60 6wUT
Qummer er100. rsdlmLiy em 300. ey Claeve| em140.
A Wen geflliul L Clenggisaser euflest Clant s &L_emest
Srssam Gurg wreTETeE @evenen. yammeo B ullew
sefluulL. OQerggssalel®mBE ¢h.140 wLLGWD
CupLiuLL g

CaemeuwTest &6w518@HS 06T SWITH &,

20. The followingis the Balance Sheet of X, Y and Z ason 1.1.98

on which date the firm was dissolved.

Liabilities Rs. Assets Rs.

Capitals X 40,000 Plant ...70,000

Y 30,000 Stock in trade ...35,000

Z 25,000 Debtors ..20,000

Loans X 10,000 Cash ... 5,000
X™... 5,000
Creditors ... 20,000

1,30,000 1,30,000

21 AF-2246




The profit sharing ratio is 3 : 2 : 1. The assets realised as

follows :—
January 1998 Rs. 25,000;
February 1998 Rs. 45,000;
March 1998 Rs. 45,000.

Show on the basis of Maximum loss metiied ofdistribution of cash.

X, Y wombd Z et @wLiyBlenesiHuiliy 1.1.98 60 @bmmerleo

Fo.L_L_newsTenlo HlmI6uesTid S LI L g).

GlLmmciy e Clengg) e

(PSH6V X .. 40,062 S6MaUML_LD ... 70,000

Y .. 20,000 Frad (mLILY ... 35,000

Z .. 25,000 sLevmeflser ... 20,000

HL_6OTH6T Koo, 10,000 Orr&s1Db ... 5,000
) G 5,000
sLefbCaMT ... 20,000

1,30,000 1,30,000
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eoruelldlgn 3 : 2 1 1 Qenss&eseT SpsevwTLeurm)
au&eSsasLLL L es. 2esteufl 98 ¢[.25,000 Mlligeufl 98

¢.45,000 1omj& 98 e45,000.

2 5855 L BLLGODUNET g LliLienL Und) L6

vl (Qeurm GFwiwew.

skkok
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AF-2247 BCO4C1

B.Com. DEGREE EXAMINATION
NOVEMBER 2010

Fourth Semester
Commerce

PRINCIPLES OF MANAGENMNZEN

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks
Part - A (10 x 2 =20)

Answer all quzsiions

1. Define Management.

GLDEDITETTEMLD EUEHTUIM).

2. Mention any.twa onbjectives of planning.

SLLBS 606 7S50 BT6tor® GMSEsTsTHameTs GNILILIGS.

3. Whatzs Decision Making?

WPIge) 6T(BSHS6V ETEITMITEL 6TEITE0T?



. Describe the term organisation.

SiewIpLiL| eTedTLIEnS fleurl.

. What is Centralisation?

EOLWILILIBSHSHE0 6T6ITDITED 6T60T60T?

. Explain the term staffing.

uessfluimert BUID6STLD eT6tTLINS 6fioTs:&6.

. What do you mean by. C=legation of authority?

SNSSMT QULIEHLLIL|-SToeT H60T GWITIH6IT WINg|?

. What is Directing?

BWSHSS U< STDITEDL 6T60T60T?
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9. Define Motivation.

2155 LILIBSH|SHEME0 CUEDTUIM).

10. What is controlling?

SLBLBSSIHE0 616D 6T60T60T?

Part-B (5 x5=25)

Answer all ques.ions

11 a. What are the principles £ vianagement?

GLDELTETOTEMLDUNETT EYBTETEDE&6IT WITET6U?

(Or)

b. Expiain the contributions of Henry Fayol’s on

Maiiagement.

BLD6vITETITENLDE:S Saunetor)l BLwedlstr Lirkifenesr eflemacs.
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12 a. Describe the importance of Planning.

SLLINBSEO6T (&S WSgIeus56ms efeurl.

(Or)

b. What are the guidelines for markiag effective

planning?

dpmbs SULINIBSHENED 2 ([(HEUTHESLD 6. DILPEDMSET WITEH6U?

13 a. What is meant by performance appraisal?

QO FweoPHmedt LPLNIB €601 L T6D 6T6tTewT?

(Or)

b. Descrihe tiie advantages of Decentralisation.

LIT6U DI @S60l60T HetTeminasensr eflaurf].
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14 a. Explain Line organisation.

auflens SemLiemL 6M6T5HES.

(Or)

b. What are the different bases of Departraer.talisation?

SIMMLDUILDITES60l65T LISdBEUM)] SHIQLILIEDLS6IT WITeme?

15 a. Explain the features of Comriuriication.

Q\BITLITL| E\aMeTeTedledr @UIeoL|EoA: 6M6N&&s.

Or)

b. Describe the natuie of Motivation.

2o 5,5 ILIBS8y, 560007 LIETTL|S606r efleurfl.

Part - C (3 x 10 =30)

Answer any three questions

16. Explain the functions of Management.

GuoevrmetoremLoudesT Licuollgsemen 65l61&&s.
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17.

18.

19.

20.

Discuss the various types of planning.

SLLGBS60l6 LIbGaum)| uen&SHeneT cleuTHss.

Explain the principles of organisation.

SHEDLDES6060T E\EHTETEDSHSHENET 6loTdh & S.

Analyse the barriers of cataraunication.

QIBILITL] E\SHMETEITEOl6DT £:60,18 6W6IT SpIMLIS.

Discuss Maslow’s theory.

LomervC Ui GHMLLIMLIgen6nT efleund)ss.

sk
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AF-2248 BC0O4C2

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Fourth Semester

Commerce

ADVANCED ACCOUNTANCY—1IV

(CBCS—2008 onwards)

Time : 3 Hours Meaximum : 75 Marks

Part A (10 x 2 = 20)

Answer all questions.

1. What is meant by cost.olus contract ?

IIL 55 eXlemeVlL oit Felq Ul @LILIHSLD 6T60TMTEV 6T6T6UT ?

2.  What is nicant by Incomplete contract ?

(PIg6:DN QRLILIHSLD 6TETTMTEV 6T6vTENT ?



What is meant by Minimum Rent ?

SHMDBHS 66 (5SSHE0S 6T6TTLIG| WG] ?

What is sub-lease ?

2_61T (5S5S608 61636V 6T6TT6T ?

Write a note on hire purchase trading account ?

eunL_ena Glamempgev ellwiniiny sevwrdSlest 158 6h @GMILILY
61(LDGI5.

State any two.aifferences between Hire Purchase

System and lristalment System.

UM €2=, LIBTET(LPHEV (PEMMEEGHD HEUEHETT (LPEDHME LD

Gz @resn(h CouniurH &ensT 61(p&15.
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10.

Who are preferential Creditors ?

(pesteIflemid sL_evithCaMgen eTevTLIouT Wiy ?

What is meant by branch accounting ?

Slenens sewvre @) sT68TLIGEN GILIM(HET 667501+ ?

Short notes about Dependent uranches ?

gnjyenLw Slemenaen LD Siml GNILIL elenys.

What is meant by Departmental accounts ?

FleOMeUTFlul H605T8(F) 6T6TIMTEV 6T6BTES 2
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Part B (5x5=25)

Answer all the questions choosing either (a) or (b).

11. (a) Write short notes on :

(1) Work certified.

(11) Work uncertified.

dml @MY euenys, :

(i) emesmersasLUL L Couemev.

(il) enmevipsfssliuL_ng Ceuenev.

(Or)

(b) Write the specimen of Contract Account.

RULKLSS sewstadle il fl LigeusSlene 61(Lpa)s.
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12.

(a)

(b)

What do you mean by vecoupment of short

workings ? Explain its types.

&onHS Couemed OIS (NSH6V 6T6SIHTEY 6T6BTEH ?

| S6VT UGB 6T 6 6TEHSH6|LD.

(Or)

Ramu took a lease of mineier a period of 20 years.
Royalty payable is Re.’ per tonne subject to a
minimum rent of 25.12,000 p.a. The short
workings are recoupable during the first three

year of the lease The output was :

2006-N:i, 2007-4,000 tonnes, 2008-20,000 tonnes
and 2G09-40,000 tonnes. Give Royalty account,
shart workings account and Landlord’s account in

vae books.

5 AF-2248




13.

(a)

TP (I &THISSEDS 20 6UIHL_MISEHSS) (HSSE055 S
d@5s1). TTwey Qewss Coaemqug @
LeTeN&ES hH. 1. LETe0 HMMHS eUTL &
auBLSHNG eh. 12,000 GonHs eur_ensenw
GS5smalles  (PHL epeTm  6llin'_MGerfleo

F(HSL_L60MD, 2 HLISSH uITesig).

2006-@e6vemev, 2007 - 4,000 iusvigeir, 2008 -20,000
Lesisem & 2009-40,000. Lesoreserr. pm(pelles 671 1q60
TVl S6TTHE) SN s Sauened &ewrs@, HMILD

Hlev 2_flemwwimeny semic;Elenesid Greyw.

Write a note an Lire purchase trading account.

eurens Clanempgeo edwmung sewsdlen g

SR 6119515

(Or)
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(b) X purchased a machine under hire purchase
system. According to the terms of the agreement
Rs. 40,000 was to be paid on signing of the contract.
The balance was to be paid in four annual
instalments of Rs. 25,000 each plus interest. The
cash price was Rs. 1,40,000. Inter¢st s chargeable
on outstanding balance at 207 p.a. Calculate

interest for each year and tke1 istalment amount.

X @ Quidlreea.s aur_enssds Glamer(pged
(69 m ull 60 elud &GS my. QUGS S ) 6ot
Blupgenenaefles g @ULLsSS560 ena6lwmiLsHiwn
Gurgy em.40,(0C 2 L evniquins OlFe)5s Couewst(HID. LSS
Qgreng- eiy. 25,000 eul_iqujLen1 CaisHg mresE
ST N ‘BeuemesTng GlFa55 Ceaustr(hid Clrmss
Qs em. 1,40,000 Qar(hiui Geusvorigwt @ mLiLest
Dg yperigm@ 20% el g &WSHSSLULOSDE.
eubleunm o ewTiqHSBTET aUllg WHMID 566w 6v0T

Cgremaenw sevorL_ls.
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14.

15.

(a)

(b)

(a)

What are the difference between Statement of
Affairs and Balance Sheet ?

Blemev gMlsenas@n @ mLLY Hlenevs @GHMILLINE@LW0
2 _emem Geumiuin( wing) ?

(Or)

Write the specimen form of a Stateinent of Affairs.

Blemev oipflGenaulest wrSF Liqeusslenen e1(pais.

The Madurai Shoe Coinpany opened a branch at
Trichy on 15t April.«2009. From the following
figures, prepare.lrichy Branch account on
31.3.2010.

Rs.
Goods sent to Trichy branch 2,15,000

Cash.s2nt to branch for :

Rent 31,800
Salaries 33,000
Other expenses 11,200

Cash received from the branch Rs.3,24,000.
Closing Stock Rs. 32,300.

8 AF-2248




(b)

1.4.2009 giesimy wgiemr of Bniwb Hwmasule
FeneenL_w Hlememenw FeumSwg. 31.3.2010
Ssurempw SlmES SHlewen & /(@ Hwny GlFwis.

1.
Fmed dlemens @ arsH@ Jetiflug  2,15,000
Fmed flemens @ CrmasL el 5|

UML_60)5 31,800
&LDLIGITLD 33,000
851 QFeve a6 11,200

Hmedl fewemlNEhgs GupliulL Qrrésn
en. 3,24,000. @mis' * srsdl@muy en.32,300.

(Or)

Explain-the difference between Branch accounts

and Departmental accouts.

Semen HewTaH@ WLOHMID FHewmeun§l &ewwrd:dlnsEw

2_emmen Geumiumsenen 6l6ne@s.
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Part C (3x10=30)
Answer any three questions.

16. The following information relates to building contract

for Rs. 10,00,000.

2008 2009
Rs. Rs.
Material 3,00,020 84,000
Direct wages 220,200 1,05,000
Direct expenses 22,000 10,000
Indirect expenses 6,000 1,400
Work certified 7,50,000 10,00,000
Work uncertified 8,000 —
Materials at zite 5,000 7,000
Plant 14,000 2,000
Cash received from contractee 6,00,000 10,00,000

The value of plant at end of 2008 and 2009 was Rs.7,000
and Rs. 5,000 respectively. Prepare Contract account

for 2008 and 2009.
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Metreupd QFwidlaen h sLl1gL LLBSSSH e C ellemev

em. 10,00,000 pL6llq&em8.

epeoL1GlLImeT GleuerfludlLg)
Crrigsamed

Crrig& ClFeveser

O (P&HE 6lF606 &6
gnesimeflsaslini_ L Ceues:s0

gnesimefleaslinL_ s Casmeo

2008

.

3,00,00€

2,30.C09

22,000

6,000

7,50,000

8,000

sL_(wre QL sHKed epeoilummer 5,000

Quibglrd

Qs s uHn& 6l newsTL_g)

14,000

6,00,000

2009

.

84,000

1,05,000

10,000

1,400

10,00,000

7,000

2,000

10,00,000

Qundlrsdlen wdiiy 2008 wHMIL 2009 mbd Iy evT(H
Wpigeyseflev em. 7,000 wHmID emh. 5,000 (pewpGui gy @& wb.

Bresst(H) 21,650 (NSEHBHMET RLILIHSSH SIS SWINFlEHs.

11
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17. An Engineer had patented a quick-boiling kettle and

gave the Domestic Appliance Co., the right to

manufacture and sell under a licence for seven years.

The stipulated terms were as follows :

@)

(i1)

(iii)

A royalty of Rs. 4 to be paid on eacl: kettle sold.

A minimum payment of Rs. 20,020 p.a.

The right to deduct in tvra fOllowing years any
excess of the miniriiini payment over the
calculated royalties in any year. The number of

kettles sold was :

2006 - 1.000 2008 - 5,400

2007 —+ 4,500 2009 - 6,500

Give tiie Ledger accounts as they would appear
in-the books of the Domestic Appliances Co, to

record these transactions.
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@wm aerdafluy 4w Qamfloplu Ly @@ e

2 LGl Qurmenen swnfls@n 2 flenwenw 6P

2T (DS EHEHE STDHDN]. 6w HlLbSemerTaH6 eu(BLOmD) :

@)

(i1)

(iii)

G55ME @B VG h. 4 eIsb OlsNss

Ceuevvriquig.

GODHS SSSHM ([ JpeTigN ¢b. 20,000.

Gop 2pusd apu@Liurg SOS58 aEGD

et et S6fles sieng 5L (H&0&meTemeonid

AHLIEHEST | 6TT6YSHAT .
2006 =, 4.000 2008 - 5,400
2007 — 4,500 2009 - 6,500

&5 0. x5Miserflen ssserfler Caemeuwnes CLCTL(H

SR semen SWHl&s.
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18.

Ram purchased a van for Rs. 42,000. Payment is made
as Rs. 10,000 down and four instalments of Rs. 10,000
each at the end of each year. Interest is charged at 10%
p.a. Buyer depreciates the van at 10% p.a. on written
down value method. Ram, after having paid the down
payment and first instalment at the end of first year.
could not pay the second instalment and the hire vendor
took possession of the van. The hire vendor after
spending Rs. 1,280 on repa’rs of the van, sold it for
Rs. 31,000. Show the Ledger accounts in the books of

both the parties.

LD eTevTLIOU T eh. 12 000 - &) (i G Ly eunsengdlenevt
6u M &l evrmiy. SN Gflw QRULKSSH 6o
®aw s S Laj_GarCw ¢p.10,000- 5605 Cleis5s)
g oaren GCgrenss@ Bressrew(h S e e 6w s 6l 60
ST QRETMISHSE , Yol rermis@ eh. 10,000
Ol e e 5 &l 61 FH TS 6D 25850l &TevoTL M. euLliq

2 ewTolL_Nenim 5@ 10% sewrsdl_Liubhger Geuewsr(HI.
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19.

eumiiSlweuy Cuom_Lmy eunsengdlen g oy 6vumolL_Tesim)|&(E)
10% Gswwnesd Geophg OCee @@Ly wenmuliled
sewiaELLy. 7iw, 2 L e Cee)sHlw Glgrensuilensurund
(PS50 FauemewT ClFTEMSHUNHETUID (LPSEVT6UF] (>, 6T0TIq. 65T
wigeleo QesHw e B revwrL Mo S euewm 6wt s
Caremasullener Ces5s Queonr Hlenevuled eurLems
eipuenemwmeny G LIf eurssnHSlenen &etmeu&id
dbs5gs0CaTerLIy. elmiicoevwnery. em. 1,280
Sueunsenglenes LGN ss CFoveuflss Nemery
eh. 31,000 &@ edpuenes Aewgny srensblstenr( B\

sruury g@seflen L@ swry Claws.

The assets of 1 1acrchant on 30th September. 2009 as
shown by his'hooks were Rs. 45,000 and his liabilities
Rs. 31,000, He filed his insolvency petition and
estimatisa his deficiency to be Rs. 22,000. He found that

the 10iiowing items were not recorded in his books :

15 AF-2248




(1) Interest at 10% on his capital from 1.4.2009.

(i1)) Amount due as wages Rs. 200, Salaries Rs. 500,
Rates and taxes Rs. 300 and rent Rs. 500.

(iii) A contingency liability for Rs. 3,0¢9 on bills
discounted by him for Rs. 8,000.

(iv) A loan of Rs. 5,000 taken froi~a friend for the

marriage of his daughter.

Prepare the statement.oraffairs and Deficiency

account.

2009 Gl&Li. 30 b BremeNiy-s(hH ewrurflullen Q&nsg)saer
eh. 45,000, Gumnijsen eh. 31,000 jeui Hleumeom@n
weemel FwL Yog ep. 22,000 umHm &G enn ol w es
LHUEGLL T SPeu@dL PeTmsen eurg 6L 160

uHlwnLetvenev sTerTLIenS LM @ sesTL_BlhbS.
(1) “2209 gLlired 1 (PFHeL jeurd (PSH6eV g euL_ig 10%.

(i) OQarhur Geuesrriqw g6 eF. 200 Fbusemd emH. 500

aufleigmser em. 300 eum_ens . 500.
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20.

(iii) em. 8,000 LIOMIESF_ (B el L b CFLGOWLESTS
ULl L Gurmiliyger em. 3,000.

(iv) oeurg waefler SHmwewmsHnars FHeng
mesoTLflL O (BHg Clunm sL6wt em. 5,000,

euriuliqued WLOHMID LUDHDISE6D @ & 65 sHend

FSWfl&s.

A company has two departmenis P and Q. From the
following particulars, prepare departmental Trading,
Profit and Loss accourt aad General Profit and Loss

account for the yeair-cading 31.3.20009.

Particulars Dept.P Dept.Q
Rs. Rs.
Opening Stock 1,00,000 —
Purci.ases 2,30,000 2,00,000
Goods from Department ‘P’ — 7,00,000
Wages 1,00,000 1,60,000

17 AF-2248




Travelling expenses

Closing Stock

Sales

Printing and Stationery

Rs. Rs.

10,000 1,40,000
8,00,000 1,80,000
23,00,000 15,00,000
20,500 16,000

om Hneaassdle P,Q oo Q@ glenmsaer 2 ememe.

SpsaeL elurrsefledismg 31.3.2009 yemiLew

(PlgeUmLBS LewTigm&Ter Gewmeurfl ewmury @eomw

BLLS &ewrdhdlemsuiiyld

SHETBTEHF EOETTW|LD & (UM 1&.

eduro

ST ErsEl L

Qlamem(Lpg60

18

Curg Qeru BLLS
sieop P sleow Q
erp. erp.
1,00,000 —
2,30,000 2,00,000
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Paieopllflpia Clupm
&85 Fo60l

F0601

vwessrs ClFevey

Bnde srsdlmLy
epHuenest

SI&&S 060l 611G Clum(men

kokok

Bevemev
1,00,000
10,000
8,653,000
22.00,000

20,000

19

7,00,000

1,60,000

1,40,000

1,80,000

15,00,000

16,000
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B.Com. DEGREE EXAMINATION
NOVEMBER 2010

Fourth Semester
Commerce

MODERN BANKING LAW AND PRACTICE

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks
Part - A (10 x 2 =20)

Answer all quzsiions
All question carriez equal marks

1. Define the term ‘Banker’.

‘CURIBWIT 616D LISESD:S 6UEDTETN0SHSHEMID & ([HS.

2. What is meant by general lien?

QgL Lnnflemd eTe3Tmmed eT6dTesr?

3. What is meant by Fixed Deposit?
MEULILS HEWISHE 6TETTMITED ET6OT60T?

1



. Define Cheque.

SNBETENeD ITLSNG BE0SHSHEWID S([HS.

. What is meant by Cash Certificates?

6\WIN&:S SMEMMISLDSET ETEIDITED 6T6OT60T?

. Define Endorsement.

UDSSDILIL| S60&S6TTD S(IHS:.

. What is meant kyI:uicidental Charges?

THEML(PEDMDS L SHVTLD 6T6ITDITEL 6T60T60T?

. What s a letter of credit?

auentlls 2 MIB& SHRELD ETESTMITED eT6dT6T?

AF-2249




9. What is Forgery of Signature?

EM&HEILDSS| LDTDITLLLD 6T6STMITED 616316012

10. Define E-Banking.

letTevTen) - EurhIBUTLIED BEVE&HSHETID &([HS.

Part-B (5 x5=25)

Answer the gqu~stions

All questions carry equal marks

11 a. How are when. a.-hanker may disclose information

regarding the enistomer’s account?

(B SURIBWLT €.MRSENSHWITETHIE &60TsHE& s WIhisemner

ETLIOLIM(DSY, S15D&Ns SeuerflufiLeomb?

(OR)
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b. When does a banker become the agent of his customer?

R(H QURISWIT UMD HEUIHEDLUI 6UTIQS NS WIT6rTIH 65T

WpaaIT SpBomi?

12 a. Define General Crossing. Explain t'ie essentials of

General Crossing.

aung&Enedeit Geossesams . cul), OUTES Smnedlesr
Wp&EBWs UG5S efleurl.

(OR)

b. Explain the'significance of ‘not negotiable’ crossing.

‘DIDDEHSBHE060  6aletim  Smedledt  WHBwG Gl6usms

e G s.
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13 a. What is meant by material atteration? What are its

14 a.

effects?

&HBEMVS HHSIHID ETEIDTED 61636 ? AHG6IT 6flewerTes 61T

wimemed?

(OR)

What are the consequences' o/ marking of cheques?

&MG&Fmeneouied GMUIBeISe™ clemeTeyH6T WTeneu?

State the legalvosition regarding entries in the Bank

pass book.

6UMhIE HHGo0OL 160 2_6Ter Lieyse LDl &1L [BemevemiDemus

ganlc.

(OR)
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b. What are the factors to be considered by a paying

banker when a Cheque is presented before him?

QFQSHID URIBWIT 1p6iTL| STEETemevemU! FLDMLILNESLILGLD

OIMWEl et seueslles: Geustorioul sMIemfllaeT u msmen?

15 a. What do you mean by negligence? iZxplain the basis

of negligence.

&EUCITLSIGITENID ETEOTMITEL 6T6ITET IS M&HTET AIQLILIML S

SrevoTmhisene efleurfl.

(OR)

b. What ai=the advantages of e-Banking explain its.

WletTemen) eutiBuTuwIedledr [HESTEMLDSET WIMEmeN?
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16.

17.

18.

Part - C (3 x 10 = 30)

Answer any three questions

All questions carry equal marks.
“Banker’s lien is an Implied pledged” - Diseass.

“curbiwiflett LpMIfiewo B 2 L HewL LG - MeMSS.

Explain the various typesaf endorsement with

examples.

UosSNILULNeT LeGauml 6. W& ST 28 T[T 600 HIS E1hL 65T

NesG .

Explain thess.atutory protection available to the

collecting Lanker in India.

a1&608: @D amISWHSESG SHIWITeled SeMLEHGD FLLAPEDDL

UMSISTLIEnUL 60618 ESs.
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19. What are the precautions to be taken over by the paying

20.

banker before honouring a Cheque?

QFQYSHGID URIBIIT S6dTeoflLLD FDMINSSILGLD &TECETanevemiL

WSILSNHES 6158 CeueTTBLD (LP6iTE\60TE Fil&:6ms86. WIMeneu?

Explain various modern services rendered by

Commercial Banks.

aumigseT SpHmID Helesr Creneusar ellens@s.

Kk

8 AF-2249




AF-2250 BC0O4C4

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Fourth Semester
Commerce
BUSINESS MATHEMATICS
(CBCS—2008 onwards)

Time : 3 Hours Maxiraum : 75 Marks

Part - A (10 x 2 = 20)

Answer all questions.

1. Explain Simple interast.

Ferfl el igemw e 5@s.

2. What is I'spreciation ?

Caianesd 6165760 6T65TET ?



Describe the Banker’s Discount.

aunmdlg semenLigenw elleulfl.

Define Logarithms.

IDL_SH69&6DW eUEDTLM).

Mention any two laws of logarithms.

wLsmasuler gCuesid Qrewr(h oddlaemens

G INNICESR

What is prohapility ?

Blamha 56 sTasTmTeL sT6vTES ?

2 AF-2250




10.

Explain Simple event.

ereflw Blaspadlenw ellens @s.

What is Set ?

&6UTLD 6T6TTM M6V 6T6TTENT 2

Bring out Poisson Distribiition.

LM Tes LITeUened 61N 5815 Sam|s.

Explain Bincniial distribution.

DI U6 6X6msE)s.
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11.

(a)

(b)

Part- B (5bx5=25)

Answer all questions.

The difference between the compound
interest and simple interest is Rs..384.60,
Number of years = 4, Rate of interest = 10%.
Find the principal.

gl alis@Gwbn selaligs@bd 2 erer
AgHlwngd em. 384.60, AL LmissT = 4, aul_lg
Ndlgibd = 10%. (PSS &M6TvTS.

(Cr)

If Rs. 5,009 15 deposited at the rate of 12% per
annum;.cempound interest in how many
years::he'amount will be doubled.

SyTign@ 12% (85685D) gl (B euliquiled
spLimi 5,000 emeuLilfev (ps5eSH QlFwwiLil L med
agsmen e sefler Shs Csrems B

DL BISMED ?
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12. (a) Explain the types of logarithms.
DL_&ena W6t aens:semer 6l6me@)s.
(Or)

(b) Simplify :

log~/27 + log8 + 1og~+/1000

log120
& (H&HGHS :

log\/ﬁ+ log8 + log /1—30_6
log120

13. (a) Explain the characteristics of Set.

s dlest pLitlweoL senet eXlens @s.

(Or)
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(b) If A={5,6,7,8,9,10},B={8,10, 11,12} and
C=12,4,5,6,10}, find An(BUC).

A={5,6,7,8,9,10},B=(8,10, 11,12} wiHmib
C=1{2,4,5,6, 10} stexfleo AN (BUC) e &16s015.

14. (a) Explain the theories of probahil ty.

Blawpaasealer Carurbams elens@s.

(Or:

(b) From a bag containing 10 black balls and 20
white balls; = ball is drawn at random. What
is the prchapility that it is black ?

@m eouulled 10 s@mUY ubgssT LOHMIWL 20
QleleTemen LG S6m 2 eTener. HNH0IFWeONs 6(H
=58 e(h&s Crflw Cug eunmbled &L
B mss Hawpsse, eeses ?
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15.

16.

(a)

(b)

(a)

Explain the properties of Binomial theorem.

FroNnILLY Capnsdler QuieoLsenst 6llens@s.
(Or)

Find the coefficient of x® in the expansion

10
(sz + ij .
x

10
4 . . . . .
(5x2+;j s e fleflev x5-6t1 (560TES NS

seseT(H L1g.

Part - C (3 x 10 =30)

Anser any three questions.

¥11d the number of years and the fraction of
2 year in which a sum of money with treble
itself a compound interest at 8% p.a.
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17.

(b) In what time will a sum of Rs. 1,234 amount
to Rs. 5,678 at 8% per annum compound
interest payable quarterly ?

() @wm GpulLlL Ggremsuler g 8% sl
el g eSSl L LILOGL o660 gy sTeuG6TEY

26T (N S6T SL_[hG LI 6vT6vTi] (LPDIDI-mSHTGWD ?

(d) oypewrigm@ 8% sl (B ol ep. 1,234 155
SIS LLLL (D STeOTTHSE @M (PeOM
Qe 5FLILHGCL TRV 6T6u66TEY 3y 680T(H) &6
s0l58 Glrss Leswd eh. 5,678 oy @Lw.

Prove that :

log\/§+ log27 +£\/22_y
log279 2

;_F,]@L‘h%&; .

log J5+ log27 +log \/ﬁ_ y
log 270 2
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18. IfA={1,2,3,5},B=(2,3,4,6}and C=1{(1, 2, 4,5,
7} then verify that An(BUC)=(AnB)U(ANC).

A =1{1, 2, 3, 5}, B=1(2,3, 4, 6} wpmwb
C=11,2,4,5,7} etesfleo AN(BUC)=(AN2YXU(ANCQC)

eT61 FRLINTSS.

19. Acoinistossed at 6 times. What'iz the probability
of obtaining

(a) 4heads;

(b) 5heads:

(¢c) 6headsand;

(d) “ getting 4 or more heads ?
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Q@ BTewTWLd 6 (Pewm&6T &evoTL_LiLIQEng). 6o
(a) 4 semevser ;
(b) 5 gewevser ;
(c) 6 gemevsen ; LOHMILD

(d) 4 gevevg sHE CoPuLl L Hemevser
SlewLLugn@iu Hawpsse) wrg ?

4
1
20. Write down the exnansion of (3x—5yj by the

binomial thearen.. By giving suitable value of
x and y obtair. the value of (29.5)* correct to four
siginficant {igu re.

1 \4
(h‘j"} - lflemer mHoILY CsHpSMS

LTSS srewrs. Coew x, y Qeunmdna@
Qurmsswren wIllisemer Carss (29.5)* -6

wSllenu BresE QevsE QL H(HSSWLS SnevwTs.

skokok
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AF-2251 BCO5C1

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Fifth Semester

Commerce

CORPORATE ACCOUNTING

(CBCS—2008 onwards)
Time : 3 Hours Meaximum : 75 Marks
Part A (10 x 2 =20)

Answer all the qu<stions.

1. What is meant by shareissue at discount ?

LI (@ 6m6T S6TTETh: g Ul 60 OleusrfluilL_ev eTeaTm 60 6T6BTEN ?

2.  What do you mean by underwriting ?

LIS 6TETMTEV 6T6vTE ?




What is meant by Revenue Profit ?

aU(HeUML $)60MLILD 6TESTMTEV 6T6BTEHT ?

Explain share capital relating to final accounts.

Bmnid) sevsdled LkIE (PHemeo efleu:

What is meant by Absorption

FRTLIL| 6T6BTMITEV 6T6TTENT 2

What is meant by-oxternal reconstruction ?

LMLOM| {EMIDLIL| 6TEITMNED 616516 2

What uo you mean by contributory ?

ukigeflILeNT] 6T6aT M6 6T65T6E ?
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8. Who are preferential creditors ?

eseiflemio sLevlthCaMi eTevTLIOUT W ?

9. Give a short notes on calls in advance.

SiemLIL (pestuewsTd Lnnil Ami@GnlLiL; 5 ins.

10. What do you mean by forfeitnire of share ?

LIkIE emIUSlpLiL] 6Tem i) sTesTent ?

Part B (5x5=25)

~aswer all questions.

11. (a) Exwzl2inredemption of prefence share.

(peseIflemio Liki@ae WL ClFuigeo efeull.

(Or)
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(b)

What Journal entries will be made for the

following types of issues ?

A company issued 1000, 6% debentures of Rs. 100

each
(1) atpar;
(i) 10% premium

(111) 10% Discount.

S0 2 6men LD =gdlr Ceuefluil Hisasmen
WsHGBILCUI B IleysemeT SHs.

@ Blmiwbd 1,200, 6% sLefl_(Qusdrrisst en.100
ez QeuafluliLgy.

1) ey
(i 10% (pewevtiold

Gil) 10% senemL.
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12. (a) Howis thenet profit ascertained for calculation of

director’s remuneration ?

Bus@nflem eardlugdHmnE Coemeuwne Klar eomui

sTeuaUMM)| SevtTa (Hleumil ?

(Or)

(b) Raja Ltd was incorporated on 1/7:2006. It took over
the running business of R2m which effect from
1.1.2006. The sales for tkeperiod upto 1.7.2006
was Rs.2,70,000 and th= sales from 1.7.2006 to
31.12.2006 amourned to Rs. 3,30,000.The

expenses debited te.vrofit and loss account are as

follows :
Rs.
(1) Directors fees 15,000
(i) Bad-debts 1,800
(i) “Advertisement (Rs.500 p.m) 6,000
(iv)... Salaries and general expenses 32,000
(v)  Preliminary expenses 3,000

The Gross Profit for the period 1.1.2006 to
31.12.2006 Rs. 2,40,000.

Ascertain the profit prior to incorporation.
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rrganr  Seflflmiwn  1.7.2006 ety  udley
Qewwiiul’ L g. g T BLslolasnes(h QmHbS
eNlwrurrgeng 1.1.2006 e (g 61(Q\S58 O\&TeTL_g|
1.7.2006 (pigw ehLiement ¢ 2,70,000. 1.7.2006 (pa6d
31.12.2006 (piqw efpHLene em. 3,30,000;

Qeomupl L sewsdled LUDHM wWeuSSUILL L

ClFeve a6 LiesTeu(mHomm)
erp.
1) Qus@EBIseT HL LD 15,000
(i)  eugmsL_6dr 1,800
(iii)  efNembLir (AL em. 500) 6,000

(iv) _cuemd wopmib Glurng Cleeueysst 32,000

(V) b ClFeve g6 3,000

1.1.2006 (wgeo 31.12.2006 (piqw Glrgg QeomLid
¢r5.2,40,000.

Bmiw ugleln @ (perrnest GeorLiGens Snevors.
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13. (a) State the content of liabilities side of the Balance

Sheet of a company.

e BniwsHer @mLiyBeney @D Qengg)ser

LSS 2 eTemLmdlweunenn edeufl.

(Or)

(b)  Show how will you exhib.* the following items in
the Balance Sheet of Limited Company as on

December 31.2009.

Rs.

Original Cestof building 4,00,000

Boc'z value of building on 1.1.2009  2,80,000

Depreciation to be written off at 5% on written

down value.
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14.

(a)

S0 Qarhssiul L elurkisensT seueuTm (b
Qurmitiy eusnrumissLiuLL Bniwgsles 31.12.2009
24,6507 (D) & & IT 6T S muyflenev &nL9e0

smesorLl CiLimi ?
£

sl igL SHl6tT IL_&aelemev +,00,000

1.1.2009 sL1qL_gdlew 1 w5l 2,80,000

5% GCauwiwrerd «wwnhg G wH LN

SH6UBTEHF L6 LD.

Explain Capiial reduction .

s HeopLifenes eleufl.

(Or)
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(b) The balance sheet of XY Ltd on 31.3.2007 was as

follows :—
Paid up capital
10,000, 6% Cumulative

preference shares of

Rs. 10 each

15000 equity shares of
Rs. 10 each

Rs. Rs.

1,00,000 Goodwill 30,000

1,50,000 Assets 1,52,000

Profitandloss 68,000

370,000 2,50,000

The preference-dividend is in arrear for three years.

The value vf the assets to be estimated at Rs. 1,30,000.

The average annual profit to be estimated at Rs.15,000.

Dratfithe Scheme of reconstruction.
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2007 wj& 31 gyestmy XY eI iqer @ L Elemev
G&PlLy Wereu@mm Qmbss!-

Clee)SHLILIL L pLpeOS6vILD o1 o1
10,000, 6% @66y (pevien)flenio

LikI&aer eh. 10 eSsLd 1,00,000 mevtnglLiLy 30,000
15000 grgrreser Lirki@s6m

eh. 10 eigid 1,50,009 “GQensgisaset 1,52,000

BeomumpL L &/@ 68,000

2,560,000 2,50,000

(perenflenio OML ey SL b ePeTm 3 66T(H & 6mns
Bleemerifs) Qmubsal. Censgisastler wdiy ep.1,30,000
2% @ 5@ eteut AN LU L gl L Uu@b gyrefl
Beviib Y eT(H R6ETMIH S eh.15,000 18 B(HSSHE0ND eT6wT
BULLGE DS

LNISL_L 6oLl L Seng 2 (HeuTese| L.
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15.

(a)

The Ashok Company went into liquidation on
31.12.2006. Unsecured creditors stood at Rs.
40,000 including Rs. 5,000 preferential claims.
Secured creditors secured on machinesy stood at

Rs.20,000.Cash in hand was Rs.1,000

The liquidator realised machinery for Rs. 15,000
and other assets reaiised Rs.10,000. The
liquidation expenses2izounted to Rs. 1,000 and
the liquidator remuneration was fixed at 4% of the
amount realisea-including cash balance and 2%
of the amouat distributed to unsecured creditors

including preferential creditors.

Prenare Liquidators Final statement account.

11 AF-2251




2006 ewuy 31l 9Gsrs  swWoILe
smevssLULLg. @bl Uenemrwibleveons
SL_enGNIIaS6M eh. 40,000 (em. 5,000 (evren)fleniowd
Cornag )lemewiw sLesanriser QuineSlrsdlen
5g em. 20,000 emasull@mLiy Grr&ow ep. 1,000.
BQuinSlrw em. 15,000 wHHGIFTSESET th. 10,000 &@Ld
semeoLiLimen eNlHmy. Sewevl: 1 JFeveyser em. 1,000
& 6% 60 LI LI 61T (1h & (&) gor &l ui 1d 4%
QrrsswresiulLenr Cormss QL Caisg))
2% L9] 6w 60T Wit i3 M SL_6UT& TS EH& S
(pergifloowyr. Coisg) Nfsa Cat@ssdain
Qar@Uuuser (P 156 Qewwiul L g.

seweoLiLliaTiies QniS) sensshleEems SwnfleEsean.

(Or)
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(b) E Company went into voluntary liquidation. Its
assets realised Rs. 3,50,000 excluding the amount
realised by sales of securities held by the secured

creditors the following was the position.

Rs.

Share capital 1,000 shares of Rs. 100 easi
Secured creditors (Security received r=.0,000) 35,000

Preferential creditors 6,000
Unsecured creditors 1,40,000
Debenture 2,50,000
Liquidatior.-e~penses 5,000
Liquidators remuneration 7,500

Prepare Liquidators Final statement.
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8 fniwb genefllgmeuns seneonbgl, Clensgissast

au@&edSg eph. 3,50,000 Nleneww &LevfbCamflLb

2 6o opeuewimGsT Hely £C 2 emeng I Feu

Hlemevemiowim@Lb.

LIkl (P60 1000 Liki@aer em. 100 e5sL0
Wewewwrw &LesfbCamy (L9 emevoTuimi sei

u&edSs8 em. 40,000)

esieniflenio sLevlthCxnysen

Wemewuleveons &LeslibCailng s

SL6TLSH TRIG 6T

seneoliL] O1&e ey mel

semeoLiLimeniflest ergluild

semeoLiLnenflen @m g sewrsens swny C&uls.

35,000

6,000

1,40,000

2,50,000

5,000

7,500

14
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Part C (3x10=30)
Answer any three questions.

16. Narayan Limited issued 50,000 equity shares of Rs.10
each payable as Rs. 3 on application; Rs. 4 on ailotment;
Rs. 2 on first call and Re 1 on final call./1i.e company
received 60,000 applications. The allovent was done

on the following basis.

Applied Allcted
(1) 10,000 shares il
(i) 20,000 shares 15,000 shares
(ii1) 30,000 sharez 25,000 shares

The company adjusted all the excess application
money towards allotment. All the calls were received
except 9ue shareholder holding 2000 shares who
belongeu to second group, failed to pay allotment and
two calls. These shares were forfeited and out of these
1,000 shares were reissued for Rs. 8 as fully paid up.

Write all the Journal entries.
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mrymwest Elmow et 50000 oLk ES6 epestm) erh. 10 etewt
Qeuefluil L _g). oHl6v em. 3 ellevTemrLiLIb.¢h. 4 815SEH
th. 2 (PBO SiewUY wHDID h. 1 Yol SievPLL.

Ul @GaeT edpasliuLl L eneu 50000. g6 86550

esteu(mHLoTm).
eNlevoreveTLISIG S LILIL L 6méu 028155
(i) 10000 uri@ser W 81580
(i1) 20000 urki@sen 15000 uri@asit
(iii) 30000 urki@sassi 25000 uri@assi

eeveon  elememTLu < 2 LfluemT(Yd  RHSHEL(D
(P ESTLIETBTLONSSLILIL L) .6T606VT {6WLPLIL|SETHLD LI6TUTLD
Qupuuli. Curg, @w umi@Gsrry Ser 2000
LIBI&SEh (@) 81550, DHNID SjemLpLiL] Liesuid OlFe)I5s5
seunlaay. euf PrewiLnd Hevew RHSE_enL
gm hosui. @emeu emiiiipliy Qenwiinl @ Seunmled
1000 urkiGse eh. 8 ellemeouler yevmev (W(PSILILN60

wmIGleusflu§® ClewwiiL L e

SIS F| LiSl6Bememu|Ld 6T(LpSI5.
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17. S Ltd was incorporated on 31.7.2007 to take over the

business of T Litd as on 1.4.2007. The books of accounts

disclosed the following 0 31.3.2008.

@)

(i1)

(iii)

(iv)

Sales for the year Rs. 32,10,400 (1.4.2007 to
31.7.2007. Rs 8,02,600, 1.7.20C7 to 31.3.78

Rs. 24,07,800)

Gross Profit for the year Rs. 4,12,800; Managing
Director’s salary Rs. 12,090; Preliminary expenses

written off Rs. 18,000.C.vumpany secretary’s salary
Rs. 58,000.

Bad debts writien off Rs. 14,890 (Prior to 31.7.

Rs 4,020 afi=1'31.7.Rs.10,870)

Depreciation on machinery Rs. 25,200; General
expenises Rs. 51,000; Advertising expenses Rs.
,200. Interest on Debentures - Rs. 20,000.
From the above particulars prepare a Statement
showing the Apportionment of company’s net
profit into profit available for Distribution and

profit to Incorporation.
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1.4.2007 geomy 14 Hmiwgdlen elwrunrsens 1O S8

Qareteugmans eev Hmiwd 31.7.2007 gem udley

QawwiiuLg|. 31.3.2008 6Tm) SH6wT&HE) L|S5SHSHm SHe

Sparenib LT FHSng.

@)

(i1)

(iii)

(iv)

Spet® eflpuenen op. 32,10,400 (1,4:2007 apseo
31.7.2007. euswr em. 8,02,600, 1:7.2007 (pse

31.3.2008 euenr ¢m.24,07,809)

et Clngs @eoruid oh:4,12,800 Geonesstenio
Buig@euilen gbuemd (5. 12,000 eT(WpSLILILL Sy TIbLI
ClFeveysem ep. 18,000 Himiwsdles O&FweoHesne

gLoLend em. 58,000

PSLILIL_ L Qigns 6o eh. 14,890 (31.7 &) (e em.

4020 31. 7% Mewr em. 10,870)

Bt Arruserflen Wgnes Cawiomenid em. 25,200 Glung
Sleweser em. 51,000 eflembuy Claeveyssr em. 7,400

a6t LS rriserflen S5 Teur eul_lg. em. 20,000.
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Cumaanlw eurmseailel®mbs Hnwsder Hlar
BQeorusens LST6 5@ 2 6L New @eonUd WHMID
udlelin@ (peorunes eomuid stemid L FSgHSHSTIq

Q@(H UL 1qui60 Swflés.

18. The following are the balances extracte 1 from the books

of Alfa Company Ltd on 31.3.2007.

Rs.
Call in arrears 75000
Premises 30,00,000
Machinery 33,00,000
Interim dividend jsaid on 1.11.2006 3,92,000
Stock on 1:4.2006 7,50,000
Furniture 72,000
Sundry debtors 8,70,000
Goodwill 2,50,000

19 AF-2251




Cash in hand

Cash at Bank

Purchases

Preliminary expenses

Wages

General expenses

Freight and carriage

Salaries

Director’s fecs

Bad debts

Delk2nture interest paid

Share capital

12% Debentures

20

Rs.

7,500

3,99,000

18,50,000

50,000

8,48,000

68,350

1,31,500

1,45,000

57,250

21,100

1,80,000

40,00,000

30,00,000

AF-2251




Profit and Loss (Cr) 2,62,500

Bills payable 3,70,000
Sundry creditors 4,00,000
Sales 41,50,000
General reserve 2,50,000
Bad debts provision 1.4.2006 35,000

Prepare Profit and Loss account and Balance Sheet

after making the followingadjustments.

(1) Depreciation annmachinery by 15%.

(i) Write off Rz 5,000 from preliminary expenses.

(iii)) Provide for half year debenture interest due.

(iv) l.eave bad and doubtful debts provision 5% on

uebtors.

(v)  Provide for income tax 50%.

(vii) Stock on 31.3.2007 was Rs. 9,50,000.
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31.3.2007 yevrmy gpeoun swblueflulen e serfled 2 emem

B mLIL&6T eu(BLMn).

erb.
SjemipLiL Kleviemeu 75,000
&L IgL LD 30,00,000
Sunbglyd 33,00,000

BevL_sameo Lrisnsmud 1.11.2000 Qarhsss  3,92,500

gr&@E 1.4.2006 7,50,000
LDEW 6vT&| 6076587 O LIM(ThL_H6Tr 72,000
&L_evtmerflg 6 8,70,000
euewfla BHQ LW 2,50,000
m&UDe N Fr&sLD 7,500
aumdluied Clrmsewn 3,99,000
Q& 6T(Lpse0 18,50,000
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QgT_&s Clgeveaser

5601

Clurg GlFeveser

S5 @&) F0.60]

FLOLIGTLD

BwsGHTSHL_L_63TLD

U TS L_68T

sLeil_(h LSH T ey 61l lg ClFeSH W)

LIMI(S) PP6VS6TS

12% s w—(QusSH rrmisen

BecripL L sewTsHE) (6u)

Clee)I55 CeuevvTiqILl 2 665TLq U160

umLIeo &L_evsfbCsmyaern

23
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50,000

8,48,000

68,350

1,31,500

1,45,000

57,250

21,100

1,80,000

40,00,000

30,00,000

2,62,500

3,70,000

4,00,000
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.

epHuenest 41,50,000
Clung sy 2,50,000
aurnssLent sl 1.4.2006 35,000

SpaeiLaunmenn Fflolauig swoluesfiuier QeomumpL L

s6w18:& OHMID L Blemeo @Gmliutienen swnflés.

i) GCauwwnerd Quindlrss i 55 15%.

(i) OsT_&8 Glaevease ey em. 5,000 F&@Hs.

(iil) miwng alily sLefl (O usdrn g Hledieneu.

(iv) eurns: _e &Ml sLevnerflgen g 5%.

(v) wu@pones eufl 50% 6815@s.

(vi))  @mid sradlmLy 31.3.2007 em. 9,50,000
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19. X Ltd agreed to acquire the business of Y Ltd as on
31.3.99. The Balance Sheet of Y Ltd was summarised

as follows :
Liabilities Rs. Assets Rs.
Capital (fully paid) Goodwill 1,00,000
shares of Rs10 each) 6,00,000 Building 3,00,000

General Reserve 1,70,000 a-hinery 3,40,000

Profit and Lossa/c  1,10,000( Stock 1,68,000
Creditors 20,000 Debtors 56,000
6% Debenture 00,000 Cash 36,000

10,00,000 10,00,000
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The consideration payable by X Ltd.

(1) A cash payment of Rs. 2.50 for every share of

Y Litd.

(i) Issue 0f 90,000 Rs. 10 shares at aa agreed value

of Rs.15 per share by X Ltd.

(ii1)) Issue 7% Debenture of R<.1,00,000 at a premium

of 20% by X Ltd.

(iv) The expenses ctliquidation of Rs.6,000 were paid

by X Litd.

Prepare necessary Journal and Ledger in the books

of X ana.Y Ltd.
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X &1b6luerfl 31.3.99 geomy Y swbluesflenw s1(h&g) Clameem

UL GarewLgl. Y swolursfluiies @@Ly Hlemeo @mlliy

QU@L
Qun@mLiyser erp. ClFns g5 56T erb.
epeugesid (erh. 10 i eerm BeTTDSILIL 1,00,000

Ppeugibd OFISSLILIL L

LIMGI(&3S6T) 6,00,000 s qLud 3,00,000
Qungsmiyy 1,70,000". Qwiglrb 3,40,000
GOMLIBL L H6wT() 1,109,200  srsd@mLiy 1,68,000
sL_6vihCHMTa 6 20,000 &Levmeflger 56,000
6% sL_esugdriaver  1,00,000 Qrrssid 36,000

10,00,000 10,00,000
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X sb6lauerf Qan(H&sGeausuoriqul om)LIuleT.

1) Y sbn6ueflllen umkiE @aibeaunsadin@n ep. 2.50

Qrrssbd CarHisasLiLL L g).

(i) X swouefliiler eem en. 10 wdliwismer 90,000

LIRI(&S6TT Fheng ellemev eh. 10 eSz1b cupsasliii L g).

(i) X sbeueffier 7% s_erasslrmss ep.1,00,000

58H@® 20% (WeweutingdlFo nupmsLILL L g).

(iv) X swbbluefl sameiit, blgeeayset op. 6,000 CFas

Swg.

X opmw Y subuefller ghaseaflenr Caemeuwns

&PILCU@ssT O CuCr_@uudlesenst smHs.
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20. The Over Confident Ltd went into liquidation with the

following liabilities :

@)

(i1)

(iii)

(iv)

Secured creditors Rs. 20,000 (Securities realised

Rs. 25,000)

Preferential creditors Rs. 600.

Unsecured creditors Rs. 30.580

Liquidors expenses in connection with liquidation

amounted to Rs. 252.

The liquidatatorss. iy entitled to remuneration of
3% on every araount realised and 1% % on the
amount uistributed to unsecured creditors except
preferential creditors. The various assets
(excluding securities in the hands of fully secured

cieditors) realised Rs. 26,000.

Prepare Liquidator’s account.
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aursterierl 6L $Cp Glar(hissLiuLl (R erTer

QUTMILIL|&ETHL_60T HeMeVSSBLILIL_L G

@)

(i1)

(iii)

(iv)

Wemewtw &L_eslibCamyaer em. 20,000 (LSS THigSHen6m

elpm| Clumm Glgrems em. 25,000)

weveniflemo sLesfbCamiaser em. S0C.

Wemesrudsveor &L evithCami ¢, 30,500

BemevLIL| ClF6v6 &6 Iy, 252.

SemeOLILITET (a3, 3% 2erdlwibd eulpssmiLiL(Slesmert.
Ba eatenn eopwn CFrss pn Clubm
Qaremsun sewrsdlLLiLiQSlernest GCuenw 1%4%
semesiunenhaeHres oGlwid. Slenewrulleveom
st bCany (Qdleo weaflenw sL_afeanissE,

LisT(H&SLILOIW CgTens Gellr)
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veoGeum OerggsaleBhsy CuUDLLLL g
eh. 26,000 (emewtw &L_evfbCamisem Clasmesur(hsmern

LSS rhiseT H6dr).

Cunaesr(eret edLirmisenen Gl TewwT(H). He060LILIT6T)

HETHENS FWIMFlEHSE|LD.

sk —
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AF-2252 BCO5C2

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Fifth Semester

Commerce

INCOME TAX AND PRACTICE= I

(CBCS—2008 onwards)

Time : 3 Hours Meaximum : 75 Marks

Section A (10 x 2 = 20)

Answer the following guestions.

1. Whatis Income ?

QU (THLDITETTLD 6T6UT AU 6T6UTENT 2

2. Whois airi.ssessee ?

eulfl SiC60S &) LI6uTT eTevTLIOUT WM ?




What is meant by Previous Year ?

(PHEOSW {6vT(H 6TEITMTEV 6TETTENT 2

Mention the kinds of residential status.

&ulmLL Blemeoullen L fleysenst @ 18 H1S.

What is meant by intangible azsets ?

L606sTTS & - Ol FNSS|SSBETT 61TMINT6D 6T65T6NT ?

What is meant by Biock of Assets ?

Clans g saaflesi @ eTeTDTEL 6T6sTON ?

Define Salary.

FLDLIEMTLD -6U6emTWm)].
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8. How do you determine Annual value ?

2p600T(D) S LIenL 6Teu6UTM)| SevoTéhd (Dol ?

9. Give the meaning of Profession.

fAmpLiy Ggmfleo QunmeT eenssHD S(ES.

10. What is capital gains ?

PLPEVSHEVT Y SMLILD 6TESTMTEL ST6uT6uT 2

Zection B (5 x5=25)
Anywer all the questions.

11. (a) Give the basis of charge of Income Tax.

Argomest euflulles g LiLienL SL_L_6vuTiD 61(LpGI5.

(Or)

3 AF-2252




(b)

An assessee commences his business on :

(1) 1stdJuly 2008
(i1) 1st October 2008

(ii1) 1st January 2009.

In each case, what will be his“Assessment Year
and what period will be treated as his Previous

Year for the concerned Assezsment year ?

aufl CleeISFHLIAIT ucHiaSHmS ClGTLkIGHS DT

(1) 1stduly 2905
(i) 1st Octover 2008
(ii1) 1stdJanuary 2009.

BSic0 HUSLTeT(HID, (PHEOSW ) 6TTENL_L|LD

%0081 (D).
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12.

(a)

(b)

Explain Agricultural Income.

eeugmw eugpomeetd LM eSeufl.

(Or)

Mr. Antony has the followirg incomes for the
Financial Year 2009-10.

(1)

(2)

3)

(4)

(1)

Income from propcrty situated in London

Rs.40,000.

Salary received in India for services

renderecd-ir London Rs. 28,000.

Profit t’om business in London controlled

froxiIndia Rs.1,20,000.
Profit from Kanpur business Rs. 1,10,000.
Agricultural income in India Rs. 10,000.

Compute the income of Mr. Antony for the
Assessment Year 2010-11, if he is an
Ordinary Resident.
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Hwm. nCsreflaE 2009-10 Kl Hwrevrigeo

SPSHTEWLD 61 (THLOTEVTIEIFHET 2_6TT6T6uT.

1

(@)

(3)

(4)

evesrTL6vflev 2 eten ClersHed QmHHa

CuDLiLL L eu(HLomed erf. 40,570.

e efleo Olewig | Bemeaussans

@ ndwreleo Qumm U tembd em. 40,000.

8 B &l w nefl 6 ohsl
SLOuUulbs5Buu @ 60 60T L_ 63T
Mlwruapsdleo Quppm Seomrud
e.1,26,090.

sevihy edwrurrsdles epeod @eomLibd
«%1,10,000.

@ ndlwneiled elleusrugsed mHng CLDHD
a(mLomeutid em. 10,000.

G renfl ‘Fngnrewrons eudlliLieur eTendolsmest(h

2010-11

D SHWTSSL (D EWIG60 jeUT

6. (TH LOMEBTSH 60 & 6815 (D1 &.
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13.

(a)

(b)

Give any ‘5’ items of income which are totally

exempt from Tax ?

auflulflelng elevsseflasinl L eum wTes ks e

a1CGgemIb mikg) - ullemest @GHBILILN[D\s.

(Or)

Mr. A Purchased a car in April 2006 for Rs.
1,90,000 for his perscnal use. On 10th June, 2008,
he gifted the car tohis son X, who uses it fully for
his professietial purposes. The market value of the
car on tn2 date of gift was Rs.1,70,000. Find out
the ¢3¢ of the car for computation of depreciation

for.tne Previous Year 2009-10.
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14.

(a)

Mr. A srettLieul Sevig) Clannhg LiwerLITmNl& @, 67L1Te0
2006 yevvtm) em. 1,90,000 sy eunridlenni.ag9ert 10,
2008 i6vm| iUl FHEvIG HTEOT Wa&HesT X &@& Lflens
aupmiderny. Carfleo FHwres Wrwowwrs
vwetu@sSHwg wry. ufle euprduCung snfle
gheng wHLUY ep. 1,70,000. Hs srflen
SILSseemeven s (PhenSii 3w 2009-10 ullest

Cawinengeng sevst(HILig.s .

Explain the differen’ types of Provident Fund.

aupEISTe .l KlHullen LevGoum euemsseneT

lleuffl.

(Or)
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(b) Compute the Net Annual Value for the following

information :—

A B C D

Rs Rs. Rs Rs
Municipal value 60,000 48,000 _ 36,000 96,000
Fair Rental value 75,000 G000 45000 1,16,000
Actual Rent 69,000 54,000 40,000 1,20,000
Standard Rent — 72,000 42000 1,15,000
Municipal Taxes 6,000 4800 3600 9600

9 AF-2252




Spsareb Aursdelmbs Har o e 6O

wSllienLs sHesur(HILlg.

A B C D
BarTldl iy 60,000 48,000 36,509 96,000

Bluimuomest eum_ens wdliy 75,000 60,600 ¢ 45000 1,16,000

Qupliu’ L eur_ens 69,000 54000 40,000  1,20,000

Freur_ensd WSl - 72,000 42,000 1,15,000

B8l eufl 6,000 4800 3600 9600

15. (a) Name at least ‘5’ items which can be included

under the head Income from other sources.

Wp euflasefleo @png eumwrarsder gCseanbd
oG -ulewest @GBILLAHS.

(Or)
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(b) From the following Profit and Loss account of a

merchant for the year ended 31.3.2009 ascertain

his taxable profit from business.

Profit Loss Account
Rs. Rs.
Office salary 4,800 Gross Proiin 1,35,532
General expenses 2,650 Comnusion 1,205
Bad debts written off 2,100 Digcount 751
Reserve for bad debts 3,000 _Swundry Receipts 202
Fire Insurance Premium 45) Rent of Building 52,640
Advertisement 2,500  Profit on Sale of
Investment 3,000
Interest on capital 1,000
Interest on Banki.san 1,550
Donations 3,875
Depreciatien 1,200
Net Profit 1,70,305
1,93,330 1,93,330
11 AF-2252




Spsewr.  Qeomu

BLLS &6 dled (kg

AwrurrsHelBha auHSE HewL @

Beorugens, (PHemSW ev01(H 2008-098& Siwmeutl.

Qoo BLL_SHew1s &

erb.
SIVI6U60GHE FLDLIETLD 4,800
CurgF QFeve g6 2,550
ClFev0leupLILIL L

U TS &L_65T5 61T 2,180

QUIMSSL_6015 eSS M6t &L 3,000
Sari (&L Leswrid 450

eSlembLIrLDd 2,500

ppeugesdhingnet eullg 1,000
eumdlas e e eul_lg 1,550

herTolsmemL_ 3,875

12

.

Qwrge Qsomud 1,35,532

E NG 1,205
S6MEMHLILG. 751
LIMDLI6V 6686l 202

sLligl eurLens 52,640

(p&6SDs6T elimmdlevten

SlewLg5g5 Qeomruwd 3,000
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- -

GCauiomesid 1,200

Blar @eomuib 1,70,305
1,93,330 1,93,330
Section C (3x10=30)

Answer any thiee questions.

16. Discuss the evolutivn of Income Tax Law in India.

@ndlwureler ocimmwrer eufl FlLGlenm eureommenm
eNlens @ s.
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17. The following are the details of shri. Ramlal.

(1) Share of income from Joint venture in India

Rs.10,000.

(i) Dividend Rs.1,000.

(iii) Income from Agriculture in Pzkistan Rs.20,000.

(iv) Salary received in India Rs. $,800 (Computed) but

his services for the sanw were rendered in Iron.

(v) Income from business [Controlled in India] in

Pakistan Rs. 10,650 and income remitted to India.

Compute Mr: KRarulal’s taxable income, if he is

(a) “aresident;

¢) anotordinarily resident.

(c) anon-resident.

14 AF-2252




S m.

TIDEVT6Y 6TeoTLIEUTS eu(HLTes efleurmiger Lles

QU(HLOMM)

(ii)

(iii)

(iv)

$))

@ndwureled eui Celg Qeneellenes epevld
SlUBHSE FlemL_ &g eumeumil em. 10,000.

UmRISTgSWD ek. 1,000.

unrdlevgrefled eumHc. HwLgs eleusrw
au(mHLOm6uTLD erm.20,000.

rrrefle Cewg Gueneussns i Qudlureled
Qupm sFwbLEawI@HLIEID [SewradlLiul L g

¢t 9,800.

urfognefledo OCswwbw Carfled, erme
@i wmellev s QUuUBSSLILLL CFTHled epevld
L5 au(mHeumil eh. 10,000. gy evomed Bha eu(heu L
@ nHwreln@ Osrewr(H eurliLL L g).
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Hl@m. rgrbeoreSlenn euflellHuInE = Lol
aumwresems  Vletau@mbd &L enevserfled

&H65T&HSE (D)5,

(a) GyullLueur.
(b) SFNsMTERILIS (&% ulHLILIT

() Gulleveongeur.

18. Mr. A Purchases a machine-on. 1st July 2004 for Rs.
2,00,000 and sells it on 1st Auzust, 2007 for Rs. 2,50,000.
He requires the same macninery on 2nd August, 2008
for Rs. 3,00,000. Whiat will be his actual cost for the
Previous Year . 2039-10 ? Assume the rate of

depreciation to be 25%.

Mr. A et6iitisuir 209emev 1,2004-ullevd em. 2,00,000 &3
Qups eurmidlesny. oemg psevl 1, 2007 oenm)
¢H.2:80,000 &@ elpuenen CFWLSHTT. Ul HbHS
Bupdlrsens gysevl 2, 2007 ep. 3,00,000 &@E S@mou
eunmdlenny. (PHeSW pevuT(H 2009-10 uiled BiFenienL i
L saelleme erevierr. 25% GCouwiwnesm NHgs5ams

2o &8 6|LD.
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19. Mr. Muthu Kumar is employed in ABC Ltd. Bangalore.

He gets the following endowments.

Rs.
Basic Salary 12,500 p.m.
D.A [Forming Part] 6,000 p:m.
Bonus 5,000
Fees 1,000

2% commission onsvarnover achieved [turnover

achieved Rs. 1,50 C241

HRA 7250 p.m.

[Rent Paid Rs. 6400 p.m]

E.A 4000 p.m.

Calculate Gross Salary.

17 AF-2252




Sm. (w5515 w0 Curistenfled 2 stemr ABC Hlmicuesgsleo
uesflyflEpry. ojeur Glumb euhHeuTl SpeuhHrm.

.

SllqLILIEDL_ FLOLIETLD LOMSLD 12,500 p.n.

LEh&LILILG

[gusTSHMEGHLLILL gI] g &,000 p.m.

Cepraluid 5,000

&L_L_6U0TLD 1,000

eNlmuenest Wares Hilia| 2%

[e9hHLiement w.*1,50,000]
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20.

() eum_ensLiLlg OIS, 7,250 p.m.

(e W eumL_ens KD em. 6,400]

Qumpa GCuné@Liulg wrswb er .4,000

(P(P FOLINSGNSS Hevot(HILllg.

From the following compute the ¢atal income of Mr.Bala

for the Assessment Year 2010.11.

Rs.

Loss from House Property (=) 8,000

Short term Cawital gain on sale of shares 95,000

Long tezm Capital Loss on sale of bond (-)85,000

Interest on Government securities 18,000
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Spsatamibd eNursSledmng wHUS L tewr@m 2010-11
sanen Hl@m. Lmeon eufseflesn OWLISSH e(pHLIHISHMS

&65T&HSE (D)5,
erp.

S eu(HLOTETSHS60 HepL LD (-) 8,000

umkiE ellmnled Gndlw srev epevgeT aygsmuw 95,000

usSro elpndled Bever &6 pLrevG 6 HesL Ld(—)85,000

TEMEIS LY emevvsTwibia 6 Sgmevt eul_ig 18,000

— — — k3%
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BCO5C3

B.Com. DEGREE EXAMINATION

NOVEMBER 2010
Fifth Semester

Commerce

BUSINESS LAW

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 75 Marks

Part - A

Answer all quzsiions

1. Define Contract?

RUUIBSLD 6TGITLISEI 616N T6L0&HSHEWID &([HS?

2. What is Auction.Sale?

6760 efHLIENSLT ETEITMITED 6T6TE0T?

3. What is Guarantee?

QUMMILILMIS 6T6STMIMTED 6T65TE0T?

(10)(2:20)



. Define Bailment?

RUILIEDLE) 6T6TTLISENT 6UemI6fle0s&:6u0TD H(HS?

. Define Agency?

LIB6OMETOTEMLD 6T60TLIS60T 6U6DIENEVESHEWID S(ihes ?

. What is Coercion?

6UEYIHSLLITLILD 6TETTMITED 6T60TM T

. What is hypothecation?

LIbSSLD 6T63TMN. 750 6T60T60T?

. Defire Caveat Emptor?

Caveat Emptor etssiLigesn eo&aemid 61pgis?

2 AF-2253




10.

11a

b.

What is General Lien?

ewingl ubHmIflewld eT6iTTed eT6dTEdI?

Who is an unpaid seller?

O&MELILIT 6flDLIEDETTWITETIT 6T60TLIENIT WIMTT?

Part- B (5 x5=25)

Answer all cudecions

. Differentiate General licn and particular lien.

aungill upmiflepwerw “GOUIG ubmiflenwuledmHs

GamILBGSSIS.

(Or)

Wiiar are the difference between Sale and Bailment?
@@ hLemers@d QUUnLADHEGD 2 6Ter GeumiLmBaeT

wimemed?
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12 a. What are the rights of a principal?

R1h Wpsevaflesr 2 flemseiT wimeneu?

(Or)

b. Explain the nature and extent of Sur=t;/’s liability.

NemewrimemhenL I QLMTMILILN6 ‘S6mswld DMHMID Si6Tey

SMsg efleurl.

13 a. State the differences bevween duress and coercion.

2 | HHLLMIUSSHGLN. 6.606&L LTUSHDSGLD 2 _6mer CaumLin®

seme GMILLIGSE:

(Or)

b. State tne rules as to valid acceptance.

61560605585 abLie sldsmens GMLILIGS.
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14 a. What are the effects of destruction of goods?

F15@& iLefletr eflemermeyseT wimemeu?

(Or)

b. What are the rights of the Buyer?

eunmbiGLeuflesT 2_flemp&eT Wimemeu?

15a. What are the differences between a contract of

Guarantee and contracvorf Indemnity?

2 _sfrans QLLBSSH G0, FLGNS RUILBSSSHGSLD 2 6T

GaumLITB&6IT WiImeTsos?

(Or)

b. What aie the rights of surety?

Nemevorwimerflest 2_flembaeT wmsmeu?
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16.

17.

18.

Part - C (3 x 10 =30)
Answer any three questions
All questions carry equal marks.

Discuss the rules regarding delivery of Goads.

FIHGSS6IT CULPMHIGSE0 QGLITLNEN efldsmener 6MaTéEs.

What are the different types oi'Agents?

wpaauiseflenr LsoGeum euens:6n LImeneu?

Discuss in detai's th¢ provisions of law relating to

minors agreements.

Senauisefles &_Letun@seT GNss sFULsldsemen sfifleuns

sfleundse.

6 AF-2253




19.

20.

Explain the duties of Bailor.

UML) O\FWILIENT6HT SLeMDSH6T 6Ml6T5HE5.

What are the essentials of contract of guarantee?

2_s8rans RILBSSHET SETHILIEDIDWITS SoyjSH6iT WITEDeN?

skkok

7 AF-2253
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B.Com. DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester
Commerce

Elective—COMPUTER APPLICA1ION IN
BUSINESS

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 60 Marks
Part - A (10 x 1Y/, =15)

Answer all ¢ucscions

1. Write about Memory.

1BemevteusLD LIHNNG &uil.

2. Write about input/Output Devices.

2 _eimerfE wHmID Qeueiui®G LGS LDMS Fam).

3. What is Machine Language?

WP360 [Bemed GIDMLY 6TESTMITED 6T65T60T?



. Define System Software.

&euoflLIOWIMN) GIDESTEILIMIREIT — E60SHSHEMWID SH(Hs.

. Define Database Sort Command.

suesen alflens (penm SHLULDET - B60&EF oUTTD SHS.

. Define Index.

2 6TEMLESID — B60&HSH6EUN D 5 hd.

. Define Keywerdas.

SCUTD - EAVEHSHETID H(H.

. What are Variables?

LDITM\G6IT 6T6OTMITED 6T60T60T?
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9. What is Gruff Generation?

&Ll HEMEOLPEMM ETGITMITED 6TETTE0T?

10. How to print a worksheet?

Sl LT HEFIBLD (Wpedm LHMNE Famy':

Part- B (5x3=15)

Answer aliquestions

11 a. Explain Functienal "Jnit.

&M UGS - 6ueawim).

(OR)

b. Expiain about the classification of Computers.

sevoflLam) euemsaseT Lbn efeurfl.
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12 a.

13 a.

Discuss the structure of computer program.

sevofiLieWmn)l BreSledr SieLiLiemwL. SemibLiL] LDy effeurfl.

(OR)

What is Algorithm?

QBM(LPEDD ETEITMITED ETEITEDI?

How to create a Database?

STEYSEITID 6ILILIQ (Ui SSLILBSDEI?

(OR)

Exp.ain the workings with multiple database files.

SULenL Ieysen a\Fweorpenn LD efeurfl.
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14 a. Explain about variables and assigning values to

variables.

nned&et womib wmiledserlstr LSIIE - euemuIm).

(OR)

b. Explain about identifiers

AIGS6T LD efeurf

15 a. Write aboutshread sheets.

Sl Leteneworget L effleurfl.

(OR)
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b. Write about operations done in an electronic

worksheet.

WetTgTeyseT a\Fwevsst Libnl efleurfl.

Part - C (3 x 10 =30)

Answer any three questions

16. Explain about Computer {vitém Fundamentals.

sewfllieunn) SeliLienL SFusso Ubr) efifleuns efleurl.

17. Explain abo:\”PU and its parts.

EOLDWI 6)FLI60&LD LDMHMILD SiG6sT LGS&eT Lb efifleuns effeurfl.
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18. Discuss about the Data Base Management commands.

sreysen sl Lemersst LM efifleurs efleurf].

19. Write about C Variables, Data types ana.C'onstants.

efleurfl-omn9l, mmledlsseit, sreysst LD sl founs efeurl.

20. How do you load, save, print and erase a work sheet?

STFHEMHB6T O1&FW6D, oL, IHEABSH0, NG5S0 LD
efleurfl.

sk
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AF-2255 BCO E1B

B.Com. DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester
Commerce

Elective—MS-OFFICE

(CBCS—2008 onwards)

Time : 3 Hours Meoximum : 60 Marks
Part - A (10 x 1Y/, =15)

Answer all quzsiions

1. What is Computer?

sevoflenl] eT6aTITED eT6dTEDI 2

2. Explain M.S:"Werd.

M.S. Worad. - eené&s.

3. Writca note on Printing a Document.

SpOUTEHMS ANFSHBSH60 LD @(H SMILIL 6T(LDSIS.



. Explain Redo and Undo.

SHDUF O1FUISHEO DHMID (LPETOFILIENED [BEHSH60 6M6SHESs.

. What is Range?

6liga: eT6BTMED 6T60TET?

. State the M.S. Excel

M.S. Excel - upp) sams.

. What is Report?

SINGENS ETEITDITEL 'T6v 6017

. What do ye:» mean by Database?

SHHEUNGITID EISTTLISDES CIITIHET S(HS.
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9. Write a note on Animation.

SiewFaULLD LHNN SMILIL 6TLDEIS.

10. What is presentation?

IBHLDSSIFHEO ETEITDITEL 616316012

Part - B (bx3=15)
Answer all questicns

11 a. Briefly explain the History 4f Computer.

semflefluiiedr eureomHEMMLI LIS F(HSHSHLNS 606TSHESS.

(Or)

b. What are ths.advantages of Computer?

seufleaflu o, [HESTEMLDSET WIMemeu?
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12 a. How will you open a new file in M.S. Word?

M.S. Word-ev @ ydw Gaiiy ereueumm Sm&sLILLe0MD?

(Or)

b. Explain the features of edit menu.

eTiel” E\Dev)6fl6sT BIeOL|SHemaT cHeTEHGSE .

13 a. How to open an existing woiksheet?

BmH5GID Lewllggnenar asie ) Sns&60MD?

(Or)

b. Write a shoi: 1:2¢ce on Autofill.

SnGeor BriLge0 MM @ ANGSOIIL e1(DSHIS.

14 a. WhLat are the advantages of Database?

SHEUOSETSIEI [HETTEMLDS6IT UITEDEU?

(Or)
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b. Explain the method of creating a primary key.

R WPSeTMD HMeGHTMed 2 (hOUTHGSLD (PEOHEDU

NesGs.

15 a. How to open a New Query?

L5l GaLLIsemed eTeuaunm) SHMé&60MmbD?

(Or)

b. Write a short note on Slide Show.

Slide Show - ubM G eTW&Is.

Part-C (3x10=30)
Answer any three questions

16. Explain the dciails about the generation of computer.

semflLieIurm e Hemeorpenmenwt L eflfleuns eflenses.

17. Analyse the formating text.

2_eIIHEDLEMILI CUIPEUEDLDSSHED LIDNN SIS,
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18.

19.

20.

What are the points to be remembered while writing

function?

O FWEOIPEMMSHEDET TIRGID OUMWG Bewevrsfled Q&memern

Geuevoriou! efleQUIMKIBET WITEMEU?

What are the steps involved in the ex2ation of a table?

QH SLLEUHETT 2_(HEUTSHGSEUSDGSI! 1 LIQBEmE0S6IT WiMemeu?

Discuss about powerpoinuvnresentation.

ueurrumievor. [BaDagem vU b efleundss.

skkok
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AF-2257 BCOE2B

B.Com. DEGREE EXAMINATION, NOVEMBER 2010
Fifth Semester
Commerce
Elective : COST ACCOUNTING
(CBCS—2008 onwards)

Time : 3 Hours Maxiraum : 75 Marks

Part - A (10 x 2 = 20)

Answer all questions.

All questions carry eoanl marks.

1. Define ‘Costing’.

‘QILSaNenen S6UiTHH W60’ B)60SHHEID &(1hHd.

2. What is meant by Prime Cost ?

(Y SHEMD L5569 6060 6T6ITMHIT6D 6T63TEN ?



What is Material turnover ?

BB OQunmeT &PHE eTETMMED 6TEITEB ?

Define ‘E.0.Q’.

‘flesen Clanem(pseo 66| B6Vs % DiMD &(HS.

What is Muster role recora?

Geuemevwime eumemsit LiFlGeu(m eT6sTmMEL 6T6BTEN ?

What is meanuvky wage sheet ?

0601 A6l 6T6UTMMT6D 6T6UTET ?

Wihat is fixed overhead ?

Bleneowiresr Gomblaeve stestmmey 6T6sTEN ?
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8. What is Job costing ?

Qg Lfléd L SBLD 6T6TMTED 6T6TTEN ?

9. Define Process Costing.

‘Lig(pemm L-&55D B60&SHESID &(H.

10. What do you mean by unde¢r-absorption of

overhead ?

Conllevaiser @Gammeuns HisliL(SHe0 6T6TmTe0

6T60T60T ?

Parv-B (5 x5=25)

Answer ail the questions.

All questions carry equal marks.

11. (a) Whatisa costcentre ? What are the different

t.rpes of cost centres ?

L5560 6m60 MWD 6TIMTED 6T65Tes ? 3ilev

615 SHEDI6VT 6L M SHS6TT 2_6IT6ITEsT ?

(Or)
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(b)

The following data relate to the manufacture
of a standard product during the month of
April 2010.

Raw material consumed Rs. 20,06G3.: Direct
wages Rs. 18,000 ; Total machine hours 3,000 ;
Machine hour rate Rs. 2 ; Office on cost 10%
of work cost ; Selling on costits. 2.50 per unit ;
Units produced = 5,000 ; Tnits sold 4,600 at
Rs. 30 each.

You are requirzd .to prepare a cost sheet in
respect of the above showing costing per unit

and profit fertlie period.

2010 g wIgGHd @B STULBSSLILILL
Qunoyer 2pusdlsarer alurmasst SCup
STl (Demeng :

s&enl Cummer vweTuGSSHwg em. 20,000 ;
Crrb el ep. 18,000 ; Qundly Crrw
vwetu@GsSwg 3,000 wenflast ; Quindro
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12.

(a)

vweTu(s5s 1 wenflsarear HL&HWL eH. 2 ;
QaTHHE Frened YL S555160 e)I6605EF OlFev6]
10% ; ellmuenend ClFeve a6 6 CILIT(HEHS S
eh. 2.50 ; 2 mugd Cewug QunmLlgst 5,000 ;
CQuwrsgs CurpLset immg 4,630 ; @@
Cunefles ellemev em. 30.

CwmgaBlw eneusefled B €@ O umerfl e
(1) Ssaalemer (ii) Hwrgss Qeomuwd
38 W 6w 61 & 60 61 Qeuefl L g b

ILsalleneolts LLliia iunevd SWfl&&ea .

What is Bin cari ? Give a specimen form of it

and discu:s 1te utility.

FU&H&(FUL SL6DL 6T6TMT60 616560 ? S 60T
Witz S Lgeuld etn elerhg 2 LGw s up

b:..\.G).“ﬂ.

(Or)
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(b)

Annual demand 2,400 units.

Unit price Rs. 2.40

Ordering cost per order Rs. 4.00

Storage cost 2% p.a.

Interest rate 10% p.A.

Calculate E.O:Q.

2peT(E Cnemeu 2, 400 960(&H 6T

endien elemev em. 2.40

SpemeTudlest 9L&8 ellemev em. 4.00
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LIETTL_S&Mene0 3L &aelleney 26T & &) 2%

el lq 651D g eT(hsE 10%

e g e ClameT(pHe0 ememeus HewrsH (6.

13. (a)

(b)

What is meant by time anea immotion study ?
In what ways is i. sonnected with

remuneration of lakboux 7

‘BTeVId’ LHMILD ‘&i:F6 | U6 6T TEV 6T6BTENT ?
Semeu eTeuauTn - Clgmifleomeny serflui eulpmi(s

pepw L ST ClarewTLg ? eleufl.

(Or)

Yrom the following data calculate Labour
turnover ratio under replacement method and

separation method.
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At the beginning of the month 500 nos. At the
end of the month 600 nos. During the month
5 labours left and 20 people discharged. But
75 people recruited and 10 of these placed in
the vacancies and the remainiug in the

expansion scheme.

S1p eumd efeurruserfled wmug) Glpsmbleomeny spmns
igsmg wMEOTMLIHS (U dDUlleIb Kflgg
RQEsoaId 655 (Weornull)d seresl(Hs.

wrgEs OsrLscsmBLEary 500 wrg
Wwielemk a7 600. Ky WIFHHe0 5
Qgnfleom:mrs i GeuefllGunieny. 20 gy ser
UL L6y, pemned 75 gL sem
Geuemieruilev wigsLILLLeor). Qeufsefleo 10
L. &6 smedlwren QL_misefle)d wmHmeuFser
Mjieunsss S LsgHnarer QL masefle b

IILTSSL LIL_L 6.
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14.

15.

(a)

(b)

(a)

What are the principles of apportionment
followed in the preliminary stages of Indirect

expenses ?

e (P& ClFeveysemer (P60 Hlemeoud 6u 118 @D
Curg seT@igss Ceueriqw o %iT6Ten a6

wmened ?

(Or)

What is machine ho= rate ? lllustrate it with

an example.

BQuindlr wewfl ~FF b eTaaTMTEL 6T65TEN ? MG (T
dO5g551L Gl ellenssa]w.

Distiziguish between Job costing and Process

cesting.

venflpenm L ssellened WLMHOHLD Uig(penm
SiLssallener CounL(OS5g)s.

(Or)

9 AF-2257




(b) The following particulars related to a contract

undertaken by Ram Construction Ltd.

Rs.

Plants purchased 60,500
Wages paid 2,40,000
Overhead apportioned 40,000
Material issued to site 3,36,000
Plant at site 48,000
Work not y«t certified 20,000
Cash reccived (being 80% of

werk certified) 6,00,000

Prepare Contract account.
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SPpeumL QULUBS BLEIIGSHSSHET [ILD

sL_(wrer HnieuesIsengs nhLd

SemeurnL_Ld ©la e (Lpge0

5601

Cewevemliy Gleeve| LRER

785G el

SeMaUTL_LD FHemdhdla. o 6meng

Ceuemev sniiodlsaliLLT5g)

LewTLL, tiummg) (80% Geuemen

Sl dleasliL’ L g))

RUILIKLG S6wTéH @ SWFlésea .

11

Rs.

60,600

2,40,000

40,000

3,36,000

48,000

20,000

6,00,000
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16.

17.

Part - C (3 x 10 = 30)

Answer any three questions.

What is Cost Accounting ? How does it differ from

financial accounting ?

L &SN eney SHewTsHlWey T “6TesTen ? G

steueunm) Hls semsdlweder $ming Counu®Sna.

Calculate the maximum,Re-order, minimum and

average levels of stocictrom the following details :

Maximum corsun:otion 150 units per day

Minimum-cozsumption 100 units per day

Normal consumption 120 units per day

Re-order period 10 to 15 days

Re-order quantity 1,500 units

12 AF-2257




Normal reorder period 12 days.

ewr eupd eNeurmisefled (hibg 2 WL L 36ema], 1m)
SpEMETT {616, GHMDHSeTa| WL b WHMID Frrafl
Seme| S weunenns sewredl (Hs

2 & glene 2 LGwrs 150 jev@s6:

BI6T QRTNI&HEG GHODHS AoTe| 2 LuGuwrsw 100

S|6V(5S6T

BT6T R6TMI%HE QuievisTer 2 LGWsD 120 960G s6T

HIET Q6TMI&E D), penersd &meoww 10 (pgev 15

HTL_&6T

M 585001 ene] 1,500 960G s6m

Gduner M) S eHETEHBTEVOWD 12 HIL_Se6.
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18.

19.

Standard time : 20 hours. Wages Rs. 5 p.h. Time
taken to complete the task 13 hours. factory
overhead is 80% of standard time. Calculate the
remuneration under Halsey and Rowan scheme
and prepare a comparitive statement. Also

calculate the benefits to the owner.

Blresrw Cwrw : 20 wewfl el e, wenflaE op. 5
Ceuemev Gewiw 1SS sTRT— Cryw 13 wewfl.
QarfinsgmL CunbGame; Slfemw Crrw &ned
eS555l60 80%. @Se(nhe ammeoCs L LiLigqujid
Crrmeunmemeiv  SlLL iliqud U @HLTET S DS
setsSL (D @@ @29 Ul iquenens Swny CFuls.
Qs Lmaar. o flenwwnenhs@ $HlewL & @0

LW enerTWLDd &ens F (s,

A manufacturing company consists of 2 production
depairtments namely P and Q and three service
deparcments in the name of R, S and T. The details

ot expenses and other information as follows :
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P P R S T
(Time  (Stores) (Maintenance)
keeping)

ExpensesinRs. 16,000 10,000 4,000 5,000 _3,000

Employee No. 40 30 — 20 10

No. of Stores

Requisition 24 20 — — 6

Machine hours 2,400 1,605 — - -

Prepare secondary distribution statement under

step distrikation method.

2O =husd Bnieuend reav® 2 pusdl 1fleysmen
Peaimin Q stesrm GQluwiflegid epenim Caemeu L Fley a6
R, S and T etesimp Quuwflenid G amessr R emeng,
@ulfleysefler Cgevayd wHMH eNeurmisEpn e
QU(BLOTM) :
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Qaeveys6r e, 16,000
Qg mfleomsrmi

stevoTenflGens 40
LIGBOTL_&:& T6m 605(5)

aupg Camiy

LIlq GUBIg6TT 24,
Quidr Crrw 2,400

10,000

30

20

1,600

16

R S

(Crrp  (uewTLaE

GNSS60) &Teme0)
4,000 5,000
— 20

T

(urmofgse0)

3,000

10
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20.

In a factory details of a job are as follows :

Materials Rs. 4,000

Wages :

Dept. A = 60 hours at Rs. 3 per nour

Dept. B =40 hours at Rs. zner hour

Dept. C = 20 hoursat 3s. 5 per hour

Variable overlicads :

Dept. A= Rs. 5,000 for 5,000 labour hours

Deve. B =Rs. 3,000 for 1,500 labour hours

Dept. C =Rs. 2,000 for 500 labour hours

17
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Fixed overheads are estimated at Rs. 20,000 for
10,000 working hours.

Calculate the price of the job adding 25% profit to
cost of the job.

Q@ Oarfipsreneoudled @ Lol saETerm 6lLiphisern
eteu (HLomm) :

s&&m ClumpLa6 eh. 4,000

5069 :

gleomn 9 - el &@ eh. 3 eigw 60 wewfl

Fleon- . - wenflsE eh. 2 eIz 40 wewfl

gleon 8 - wenfla@ 5 eigb 20 wewfl
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wrnib CnHolFeve|s 6 :

gleom 3 - 5.000 2_ewipLiL] wewflaEns @ em. 5,000

gleom o - 1,500 2_emipliL wewflsEms@ . 3,000

gleom B - 500 2_ewpLiy wewflaerd ¢ em. 2,000

wrorg GCuwmblFeveaysst 10,008 bewflaEmeE, em. 20,000
stenim) 2 56s8saLuO S

uenfl&anen L sselereowjLem 25% eorud Cersg

uenfluflesr el emev s s SevtT&HS (DS,

skkok
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